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45681 _| .700 46.600 26.200 30.600
REH 45HRT | 29.400 24.600 26.800 36.500
45H 32.500 28.700 36.500 7.000
R ) e 400 25.800 800 200
[ | .100 25.800 .500 .900
[ ! .400 23.200 .200 .200
[ ! .500 .000 .600 .200
[ ! .500 .000 .200 .200
.000 .400 .300 .600
T G % | 400 600 500 100
[ ! .400 .600 .800 .700
[ ! .100 .000 .100 .100
[ | .900 .400 9.300 25.800
[ | .500 .400 9.300 25.800
.500 .300 8.100 24.800
= (PH)-BES | Z=(HE) %[ N2l | 28 25,500 900 28.700 31.800
=5 | _NU022 28 25.500 28.700 35.100 53.200
KR (B®)-FiE | Kbk (BA7) % NU083 | 28 26.600 45.300 25.800 25.200
B 8 5 086 28 25.400 23.300 27.500 46.400
R (P A B E (PE) 28 22.700 36,200 20.800 23.400
28 22.700 36.200 20.800 23.400
28 16.300 20.700 14.900 .500
28 22.800 .000 14.900 .500
ET e IE] 28 16.000 400 20.200 200
28 20.800 .800 22.500 36.500
28 20.700 .800 22.500 36.500
3 | 28 20.700 .800 22.500 36.500
W GIE-EE | M (BE) % | _NU60i | 28 1000 400 800 1100
|_NU605 28 .500 .100 .100 .700
|_NU607 28 .500 .100 .100 .700
|_NU609 28 .500 .100 .100 .700
|_NU617 28 .400 .100 .400 .100
|_NU621 28 .000 .400 .000 .200
U625 28 .000 .200 .800 .100
RiEH U600 28 700 .800 .800 .900
|_NU608 28 700 .800 .800 .900
U610 28 .700 .200 .500 .100
U612 28 .700 .200 .500 .100
|_NU614 28 .300 .900 .100 .400
|_NU622 28 .300 .100 .100 .400
U626 28 .300 .200 .200 .400
FRNE) -S| AR IE) | _NUss1 | 28 200 600 300 200
|_NU557 28 .000 .400 .100 .100
|_NU559 28 .000 .400 .100 .900
|_NU563 28 .200 700 .400 .200
|_NU565 28 .400 .900 .300 .200
|_NU567 28 .400 .700 .300 .200
us71 28 .400 .700 .300 7.200
U573 28 .500 .000 .600 7.500
E&% | NUSs2 | 28 200 7.700 700 000
|_NU556 28 .200 .300 .300 .900
|_NU558 28 .200 .300 .300 .300
|_NU560 28 .200 .300 .300 .300
|_NU562 28 .000 .400 .400 .200
|_NU564 28 700 .100 .100 .900
|_NU566 28 700 X .100 .100 .900
U572 28 700 .900 .100 .100 .900
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EEERE 2019/01/26 ~
Py Py 9/20 9/21 9/22 9/23
&M ROITN| RETE iy | £mI7 | EAATA| £B7E| REHTA| £EH7E| KEITA| £EITE
i EAEOEOEOE OO
K (B87E) 5|t 45 B 8 7.200 .100 200 .100 .400 13.800 .400 .800
[ 458 .800 .500 .100 .000 .800 8.900 .600 000
45H .200 .600 .800 .800 .500 .600 .800
TR GRE) [ 458 .800 700 .500 .600 .900 .100 .900
458 .300 .800 .700 .900 .000
458 .200 .700 .700 400 33.800
RR(CPHE)=RE HRCHA)H 458 .200 55.400 29.400 4.600 30.200
45H .000 41.400 29.400 4.600 30.200
REH 45H .300 24.600 29.400 36.500
45H .900 27.100 38.500 7.000
=344 () AR 400 25,800 6.400
[ ! .100 25.800
[ ! .400 23.200
N 500 400
N 500 600
.000 .900
iR (ARER) R | ! 400 .000
N 200 1000
N 100 500
N 900 300
N 500 900
.500 .800
= (PH)-BES | Z=(HE) %[ N2l | 28 25.500 900
=5 | _NU022 28 25.500 25.500
KR (B®)-FiE | Kbk (BA7) % NU083 | 28 26,600 45.300 3 ) i
B 8 5 086 28 25.400 23.900 . X X X
EREGPE) PR B ESE () 2 22.700 [s0.500 | 0200 | 100 | 0800 | 20400 | 7000
28 22.700 36.200
28 16.400 20.700
28 22.800 7.400
AR (GIRER) R 28 16.000 .400
28 20.800 .400
28 20.300 .400
3 |28 20300 [ 19.400
FROIR RE | RGP Nueoi | 28 000 500
|_NU605 28 .500 .900
|_NU607 28 .500 .900
|_NU609 28 .500 .900
|_NU617 28 .400 .900
|_NU621 28 .000 .000
U625 28 .000 .900
TER U600 |28 700 800
|_NU608 28 700 .800
U610 28 .700 .200
U612 28 .700 .200
|_NU614 28 .300 .900
|_NU622 28 .300 .900
U626 28 .300 .200
FROIREE | RGP NUssi | 28 200 00
|_NU557 28 .000 .800
|_NU559 28 .000 .800
|_NU563 28 .200 .100
|_NU565 28 .400 .700
|_NU567 28 .400 .700
us71 28 .400 .700
U573 28 .500 .000
E&% | NUSs2 | 28 200 7.700
|_NU556 28 .200 .100
|_NU558 28 .200 .100
|_NU560 28 .200 .100
|_NU562 28 .000 .500
|_NU564 28 700 .200
|_NU566 28 700 X B .200
U572 28 700 .600 700 .200
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EEHAE 2019/01/26  ~
- . - N 10/11 10/12 10/13 10/14
- EEITA| R8T | KT E| HRILIA] %5175 KAITA| SWITE| KRITA| RAHTB
il | ©RW | ERE | SRE | @ne | %A@ | 9@ | SAE | &A@
KB (B97E) %[ 45 H Al 16.300 15.100 .200 ,700 13.800
[ 458 .600 8.500 .000 9.300
458 15.800 14.800 .500 .900
TR GRE) [ 458 12500 | 12100 | 800
458 9.200 8.500 300
458 14.500 12,900
TEAEGE | REGHEE w58 35300 | 31700
45HAT | 33.200
FER 45EAT | 28.400
45HRT | 33.800
EEELE ) EEEES 20.100
N 21.600
N 20.100
[ 7.200
[ 7,800
8.900
FROE %] 6.100
[ 7.400
[ 8.800
[ 9,900
N 20.700
18.900
RACHE)-Bd | EmCRE) %[ NU02i | 28 35.000
= | _NU022 28 33.200
KR (B®)-FiE | Kbk (BA7) % NU083 | 28 22.000
Gia% 086 28 700
EEE (P - FAGHEEE (P 28 400
28 400
28 900
28 22.200
FRBHE 28 16000
28 20.800
28 20.300
3 | 28 20.300
FRBE-GE | FRGHE %[ NUeoi | 28 000
|_NU605 28 .500
|_NU607 28 .500
|_NU609 28 .500
|_NU617 28 .400
|_NU621 28 .000
U625 28 .000
TER U600 |28 700
|_NU608 28 700
U610 28 700
U612 28 700
|_NU614 28 .300
|_NU622 28 .300
U626 28 .300
AR EG | PRI R NUssi | 28 200
["NUSs7 | 28 000
["NUS59 | 28 000
|_NU563 28 .200
["NUS6s | 28 400
["NUSse67 | 28 400
us71 28 400
U573 28 .500
EHHE |_NU552 28 .200
["NUS56 | 28 200
["NUSss | 28 200
|_NU560 28 .200
|_NU562 28 .000
|_NU564 28 700 5 K
|_NU566 28 700 100 K .900
U572 28 700 100 .900 .900
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EEERE 2019/01/26 ~
Py Py 10/18 10/19 10/20 10/21
&M RORIIN| ROTE iy %mi7 | BAATA] %8176 | BEHTA| £EH75| EEITA| KEITE
i RNEOED EAE | ERE | @Ne | EA@ | EAS
KR () 36 |1 4588 76,400 15.100 19,200 14.800
[ 458 8,600 8.500 8.500 8,600
45H .800 13.400 13.800 .900
T G % | 458 800 13.400 13.800 900
458 .000 9.100 9.100 .000
458 .900 14.000 .500 23.800
FRGEEE | REBDE a8 50072500 5007500 ]
45H .600 .600 26.600
FER 458 600 600 26.600
45H .100 .100 29.100
REFAEE | R %0 %00 1200
[ ! .100 .600 .200
[ ! .900 .600 .900
[ ! .400 .400 .400
[ ! .400 .400 .400
.400 .400 .400
T G % | 400 400 400
[ ! .400 .400 .400
[ ! .100 .400 .400
N 600 900
N 100 400
500 1600
= (PH)-BES | Z=(HE) %[ N2l | 28 26.100 26.200
R | _NU022 28 26.100 26.200
KR (B®)-FiE | Kbk (BA7) % NU083 | 28 25.300 600
B 8 5 086 28 21.600 .600
EEE (P AW EEE R 2 2400 400
28 22.400 .400
28 .300 .000
28 .900 .000
EIetaE 2 000 900
28 .000 .400
28 .000 .400
3 |28 000 [ 19.400
WAGRE)-EE | AEOPE R| U0t | 2 600 800
|_NU605 28 .100 .300
|_NU607 28 .100 .300
|_NU609 28 .100 .300
|_NU617 28 .100 .200
|_NU621 28 .000 .500
U625 28 .600 .800
TER U600 |28 600 800
|_NU608 28 .600 .800 . . .
U610 28 .700 .200 .500 .000 .500
U612 28 .700 .200 .500 7.000 .500
|_NU614 28 00 .300 .300 .100 .300
|_NU622 28 00 .300 .300 .100 .300
U626 28 .100 .200 .200 .100 .100
FRNE) -S| AR IE) | _NUss1 | 28 200 700 400 200 700
|_NU557 28 .600 .600 .600 .600 .600
|_NU559 28 .600 .600 .600 .600 .600
|_NU563 28 .900 .900 .900 .900 .900
|_NU565 28 .100 .100 .100 .900 .100
|_NU567 28 .100 .100 .100 .900 .100
us71 28 .100 .100 .100 .900 .100
U573 28 .400 .300 .400 .200 .400
E&% | NUSs2 | 28 200 700 700 200 700
|_NU556 28 .100 .100 .100 .100 .100
|_NU558 28 .100 .100 .100 .100 .100
|_NU560 28 .100 .100 .100 .100 .100
|_NU562 28 .900 .900 .900 .900 .900
|_NU564 28 .600 .600 .600 .600 .600
|_NU566 28 .600 .600 .600 .600 .600
U572 28 .600 .600 .600 .600 .600

JTA



rEBE5 1 EER(10H228EEY) JTA

SEEWAA . 2019/01/26 ~

— — 70/22

= REMTA| EWIOB | riTA aETE
8 | mma
R BAGE :
EXACTOEIN 450 | 78600
[ 458 8.600
458 13.800
D) 3 758 13800
458 9.200
458 .600
FEGE)EE | REGEE 458 500
458 600
TEE 758 500
458 100
FErE) EES 500
N 100
N 900
N 400
N 400
400
I 3| 400
N 400
N 400
N 900
N 400
900
RACHE)-Bd | EmCRE) %[ NU02i | 28 26.100
= | _NU022 28 26.100
KR (Ba#8)=RiE [ KB (FA7E) 5 083 28 23.400
Gia% 086 28 .600
EEE () AR BB E (F8) 28 500
28 .500
28 .300
28 .300
ETIETES 28 300
28 22.700
28 22.700
3 | 28 22.700
FRCRD) 5 | i) 3 [ NUso1 |26 500
|_NU605 28 .100
|_NU607 28 .100
|_NU609 28 .100
|_NU617 28 .900
|_NU621 28 .200
U625 28 .600
FE5 | _NU600 | 28 600
|_NU608 28 .600
U610 28 700
U612 28 700
|_NU614 28 .100
|_NU622 28 .100
U626 28 .900
AR -BE | AAORTE) | NUssi | 26 200
["NUSs7 | 28 600
["NUS59 | 28 600
|_NU563 28 .900
["NUS6s | 28 900
["NUSse67 | 28 900
us71 28 .900
U573 28 .200
E&% | NUSs2 | 28 7.900
["NUS56 | 28 900
["NUSss | 28 900
|_NU560 28 .900
|_NU562 28 .900
|_NU564 28 1.600
|_NU566 28 1.600
U572 28 1.600




[R—N—%FGIHEEXRAAI~158BED)

EEEME : 2019/01/26 ~
4/1-15
=) - ANZER
wrg | B0 x
K (A7) =ih#8 (AER) | KBk (BAFE) 5 14.400 63% |:12.400, £:16.300, H:11.100
.000 79%
.500 75% [#£:11.500, H:12.500
eI 500 | 78%
.000 79%
14.400 63% |£:11.300, £:11.800. H:13.100
FRIB)EE | RRGER 900
.900
FER 500
22.400 400
EEETE ) RER 800 700
11.000 ,000
.800 .700
.300 .200
.300 .200
.300 .200
AR 300 200
.300 .200
.800 :10.200
.800 0.700, H:11.400
10.300 1,000, *:11.200, H:11,900
.800 :10.700
R (PH)=Ed = OCHE) .900
Eh 5 .900
KR (BAF8)=RiE K0 (BA7E) % .900
GiE % 1.400
B (T S | BB E (P 3.900 T5:400
3.900 £:15.400
9.500 1.500, & H:11.000. +:13.000
9.500 :11.500, ﬁ:]7.400\ £:13.000. H:13.800
R GRER) F .800 3.800, H:14.000
.500 67% 1:16.000, H:19.!
.300 58% | Ak7K:17.000. 7?(:17.200\ H:20.800
.300 58% | A7K:17.000. 7?(:17.200\ H:20.800
FEEERE | RO % | 900 | 77%
[ 55 .400 75%
[ 55 .400 5%
[ 55 400 | 75%
55 .400 75%
55 700 | 78% H:6.000
55 .900 7%
% 55 .900 T
[ 55 900 | 77%
55 700 8% | A H:6.000
55 700 78% | A H:6.000
55 .400 75%
[ 55 400 | 75%
55 .000 77% [#£+ H:6.300
FREMT S | PR | 55 200 |63 [JCRH6900
[ 55 .900 | 70%
[ 55 .900 | 70%
[ 55 200 | 68%
[ 55 400 | 72%
[ 55 400 | 72%
55 .400 2%
55 .700 1%
BEHE [ 55 .200 63% | X7k K:6.900
[ 55 400 | 72%
[ 55 400 | 72%
[ 55 400 | 72%
[ 55 200 | 68%
[ 55 .900 | 70%
[ 55 .900 | 70%
55 .900 70%
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TR—N\—%FGIHEER(AA16~25BEFEN)

EEEME : 2019/01/26 ~
4/16-25
=) § A=Ak
wrg | B0 x
K (A7) =ih#8 (AER) | KBk (BAFE) 5 14.400 63% |£:12.400, £:16.300. H:11.100
.000 79%
.500 75% |#:11.500, H:12.500
eI 500 | 78%
000 79%
400 63% o 00, 1:11.800, H:13.100
FRIB)EE | RRGER 500 704 21900
.900 70% 900
a5 900 | 70% 1900
400 66% 400
EEETE ) RER 9,800 | 684 700
11.000 64% ,000
.800 68% .700
.300 70% .200
.300 70% .200
.300 70% .200
AR 300 | 70% 200
.300 70% .200
.800 68% |1 H:10.200
.800 68% 0.700, H:11.400
10.300 67% 1,000, *:11.200, H:11,900
9.800 68%
R (PH)=Ed = OCHE) .700 65%
ek .700 65%
Kz (B878)=RiE K0 (BA7E) % .300 70%
GiE % .900 7 .300
B (T S | BB E (P 800 300 £20300-
.800 .300, N
.800 .500, 1.800. .
.800 | 7 .500, #:17.400. 1+ H:13.800
AR 10800 | 75 X 0
9.800 7% 1:11.800. X
13.300 69% | Ak7K:12.000, JF:IZ.ZOO\ H:20.800
13.300 69% | Ak7K:12.000, JF:IZ.ZOO\ H:20.800
FEEERE | RO % | 900 | 77%
[ 55 .400 75%
[ 55 .400 5%
[ 55 400 | 75%
55 .400 75%
55 700 | 78% |H:6000
55 .900 7%
% 55 .900 T
[ 55 900 | 77%
55 700 8% [ B H:6.000
55 700 78% | A H:6.000
55 .400 75%
[ 55 400 | 75%
55 .000 77% £+ H:6.300
FREMT S | PR | 55 200 |63 [JCRH6900
[ 55 .900 | 70%
[ 55 .900 | 70%
[ 55 200 | 68%
[ 55 400 | 72%
[ 55 400 | 72%
55 .400 2%
55 .700 1%
BEHE [ 55 .200 63% | KIKAK:6.900
[ 55 400 | 72%
[ 55 400 | 72%
[ 55 400 | 72%
[ 55 200 | 68%
[ 55 .900 | 70%
[ 55 .900 | 70%
55 .900 70%
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[R—I—%BEERGAT~1TAEED)

EEEME : 2019/01/26 ~
5/7-117
=) § A=Ak
wrg | B0 x
K (A7) =ih#8 (AER) | KBk (BAFE) 5 14.400 63% |£:12.400, £:16.300. H:11.100
.000 79%
.500 75% |#:11.500, H:12.500
eI 500 | 78%
000 79%
400 63% o 00, 1:11.800, H:13.100
FRIB)EE | RRGER 500 | 704 21,600
.900 70% 900
a5 900 | 70% 1900
400 66% 400
EEETE ) RER 9,800 | 684 700
10.800 65% .300
.800 68% .700
.300 70% .200
.300 70% .200
.300 70% .200
AR 300 | 70% 200
.300 70% |4 0.200
.300 70% | £:10.200. H:10.900
.800 68% 0.700, H:11.400
10.300 67% 1,000, *:11.200, H:11,900
9.800 68%
R (PH)=Ed = OCHE) .600 65%
ek .600 65%
Kz (B878)=RiE K0 (BA7E) % .300 70%
GiE % .900 7
B (T S | BB E (P 500
.800
800 | 7
AR 10800 | 75
9.800 7%
13.600 69% L H:21.
13.600 69% 12,600, H:21.000
FEEERE | RO % | 900 | 77%
[ 55 .400 75%
[ 55 .400 5%
[ 55 400 | 75%
55 .400 75%
55 700 | 78% |KE:6.000
55 .900 7%
% 55 .900 7% | X:6.100
[ 55 900 | 77% [ X:6.100
55 700 8% [ B H:6.000, X:6.100
55 700 78% | B H:6.000, X:6.100
55 .400 75%
[ 55 400 | 75%
55 .000 77% [ X:6.100. £+ H:6.300
FREMT S | PR | 55 200 |63 [ A H6900
[ 55 .900 | 70%
[ 55 .900 | 70%
[ 55 200 | 68%
[ 55 400 | 72%
[ 55 400 | 72%
55 .400 2%
55 .700 1%
BEHE [ 55 .200 63% | KIKAK:6.900
[ 55 400 | 72%
[ 55 400 | 72%
[ 55 400 | 72%
[ 55 200 | 68%
[ 55 .900 | 70%
[ 55 .900 | 70%
55 .900 70%
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TR—N\—%FGIEERGAI1B~IIBEEN)

EEERE 2019/01/26 ~
5/18-31
=40} i A—I—%F
| o ws
KB (BA7E) =4k (BRER) | KRR (BIEE) & 14.400 63% [£:12.400, £:16.300. H:11.100
.000 79%
.500 75% | #:11.500, H:12.500
SRR (RE) R .500 78%
000 79%
400 63% :11,300, £:11.800. H:13.100
RER(CPE)=7E RRCRE) % .900 70% :21.900
.900 70% 900
b 900 |__70% 1900
400 66% 400
EEELEE ) [ES 9.800 68% .700
10.800 65% 300
.800 68% .700
.300 70% .200
.300 70% .200
.300 70% .200
SRR (RE) R .300 70% .200
.300 70% |4 0.200
.300 70% | +:10.200. H:10.900
.800 68% 0.700, H:11.400
10.300 67% 1,000, £:11.200, H:11.900
9.800 68% :10.700
BR(PHE) =4 R ¥ .600 65% |:21.700. & H:23.400
Eh 5 .600 65% |£:21.700, F H:23.400
K (BdE)=7iE [ K (RA7E) 5 .300 70%
GiE % .900 7 .300
HEE (P ED) =048 ()| B 5 E () .800 300, £:20.300.
.800 .300. N
.800 .300. 1.800. .
.800 | 7 .300, £:17.400. £ H:13.800
SRR (RE) R 10.800 5% X 00
9.800 77% £:11.800. .
13.600 69% [ k7K:12.100. A:12.600. H:21.000
13.600 69% [ k7K:12.100. A:12.600. H:21.000
RAE) -EE SR (IRER) % [ .900 77%
[ 55 .400 75%
[ 55 .400 75%
[ 55 400 | _75%
55 .400 75%
55 700 | 78% [@:6.000
55 .900 %
b 55 900 7%
[ 55 000 | _77%
55 .700 8% | A H:6.000
55 .700 78% | A H:6.000
55 .400 75%
[ 55 400 | _75%
55 .000 77% |£+H:6.300
iR (B =EE B (AR % [ 55 .200 63% | XA H:6.900
[ 55 .00 | _70%
[ 55 .00 | _70%
[ 55 200 | _68%
[ 55 400 | 72%
[ 55 400 | 72%
55 .400 72%
55 .700 1%
BERE [ 1 55 .200 63% | KJKK:6.900
[ 55 400 | 72%
[ 55 400 | _72%
[ 55 400 | 72%
[ 55 200 | _68%
[ 55 .00 | 70%
[ 55 .00 | _70%
55 .900 70%
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4/26 4/27 4/28 4/29 4/30
[=45] R—1 =518 A—A—5§ A=\ —5%i§ A—/ 51 A=\ —5%i§
B e AR e B
KB (BEEE) =R GR&) | KR (BIEE)
SRR (RE) R
RER(CPE)=7E RRCRE) %
RIER
EEELEE ) [ES
SRR (RE) R
RERCPE)=EH L CRE) %
m
KR (BdE)=HiE | KB (BAFE) &
GiE %
HEE (P ED) =048 ()| B 5 E ()
SRR (RE) R
RAE) -EE SR (IRER) % [ %
[ 55
[ 55
55
55
55
RER 55
[ 55
55
55
55
[ 55
55
REBBR)-EE B (AR % [ 55
55
[ 55
[ 55
[ 55
[ 55
55
55
EEE 55
[ 55
[ 55
[ 55
[ 55
[ 55
[ 55
55
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5/1 5/2 5/3 5/4 5/5 5/6
[=45] R—1 =518 A—A—5§ A=\ —5%i§ A—A—5§ A=\ —5%i§ A—A—5§

KB (BEEE) =R GR&) | KR (BIEE) ‘ggg
400
SRR (RE) R 400
400
22,800
RER(CPE)=7E RRCRE) % 55.300
24,300
RiER 43,700
55,300
1= () 18RS 25,700
25.700
600
.900
.900
.900
SRR (RE) R .900
.900
20.500
21.300
21.300
20.300
RERCPE)=EH W (CFW) $ .800
R 800
BEE(PER)=> B R (hE) qgg
800
800
SRR (RE) R .300
6.100
6.100
6.100
RE) -EE SR (IRER) % [ 7.900
[t 55 .000
[t 55 .000
[t 55 .000
55 900
55 7.900
55 7.900
RER 55 7.200
55 7.200
55 7.200
55 7.200
55 8.200
[ 55 8.200
55 7.200
HREBBR)-EE B (AR & [ 55 8.700
[t 55 7.000
[t 55 7.000
[t 55 7.300
[t 55 7.000
[t 55 7.000
55 7.000
55 7.300
EEE A 55 7.400
[t 55 7.000
[ 55 6.700
[ 55 6.700
[t 55 7.300
[t 55 7.000
[t 55 7.000
55 7.000
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[R——%BEERGA1~14REBED)

EEEME : 2019/01/26 ~
6/1-14
=) § A=Ak
wrg | B0 x
K (A7) =ih#8 (AER) | KBk (BAFE) 5 14.900 61% |£:12.900, £:16.800. H:11.600
.000 79%
.500 75% |#:11.500, H:12.500
eI 500 | 78%
000 79%
.900 61% :11.800, £:12.300, H:13.600
FRIB)EE | RRGER 500 | 704 21,600
.900 70% 900
a5 900 | 70% 1900
400 66% 400
EEETE ) RER 9,800 | 684 700
10.800 65% .300
.800 68% .700
.300 70% .200
.300 70% .200
.300 70% .200
AR 300 | 70% 200
.300 70% |4 0.200
.300 70% | £:10.200. H:10.900
.800 68% 0.700, H:11.400
10.300 67% 1,000, *:11.200, H:11,900
9.800 68%
R (PH)=Ed = OCHE) .700 65%
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["Nuos3 |7 400
["Nuos7 |7 200
["Nuoet |7 0.600
[NU063 |7 000
U065 7 .000
TP GAE) % | _NU0s0 | 7 000
[NUos2 |7 000
[NUosa |7 000
[NUos8 |7 000
[NU060 |7 000
U062 7 .000
R (PH)=Ed HE (CRHE) % uo21 7 28.400
ek U022 7 .000
Kz (B878)=RiE 0 (BA7E) % U083 7 .600
=Pk U086 7 .000
BB (P AR BB & & 2 (B aD F_Nas | 7 500
U045 7 .800
uo47 7 .300
U 7 .500
R GIE) % | NU 7 700
U 7 9.300
U 7 14.100
U 7 14.100
ARE)-RE | AR R [ NUol | 7 000
[NU605 | 7 200
[NU607 |7 200
[NU60s | 7 200
U617 7 .000
[NU62t | 7 000
U625 7 .100
FE®E | NU600 | 7 200
[NU608 | 7 200
U610 7 .200
U612 7 .200
U614 7 .900
[NU622 | 7 000
U626 7 .400
AR -ES | AR R | NUss | 7 700
[NUs57 | 7 000
[NUSs9 | 7 000
[NUS63 | 7 300
[NUS65 | 7 200
[NUs67 | 7 200
U571 7 .200
U573 7 .500
EARE | NUss2 | 7 400
[NUSs56 | 7 700
[NUSs8 | 7 700
[NUS60 | 7 700
[NUs62 |7 000
[NUs6a | 7 700
[NUS66 | 7 700
U572 7 .700
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_— P N DT DY DY ST YR Y ST YT
BAME | gmm | mam | @A@m | SRE | SRE | GRE
R () AT | R () % | NuooT |7 50
[NU005 |7 200
U009 7 .900
ETEEE B 9500
[_NUOo04 .900
U008 .800
RRAE)BE | RRCAER | N7 50.100
U 7 23.500
RIEHF U 7! 43.600
U 7 50.100
FEETeTE) TER | _NUost | 7 300
[NU0s3 |7 300
[NU0s7 |7 500
[NUo6T |7 000
[NU063 |7 000
U065 7 .000
AT | NU0s0 | 7 000
["Nuos2 |7 500
[NUosa |7 20400
[NUos8 |7 21200
[NU060 |7 21.200
U062 7 20.200
R (PH)=Ed HE (CRHE) % uo21 7 .000
R U022 7 .000
ZEE(FE EEE (PED T N4 | 7 700
U045 7 700
uo47 7 .700
U 7 .100
ETHEEE Y I 7 7200
U 7 700
U 7 700
U 7 700
FAGD)EE | FAGRE R | NUsi | 7 500
[NUSs7 | 7 800
[NUS59 |7 800
[NUS63 |7 100
[NUS65 | 7 400
[NUs67 | 7 400
U571 7 .400
U573 7 .400
EE% | NUse2 | 7 700
[NUs56 | 7 700
[NUsss | 7 700
[NUS60 | 7 700
[NUs62 | 7 700
[NUS6a | 7 700
[NUS66 | 7 700
U572 7 .700
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6/1-14
F TSR
B B2 | BAR [y [ HEH o
el LS "
KIR (BI78) =948 (FRER) | ABR (BAF) 5 |_NU0OT | 7. 14.700 62% |£:12.700. £:16.600. H:11.400
[ NU005 | 7 7.900 79%
U009 7! 7.900 79% |4:11.100, H:12.100
%8 (FRER) % |_NU002 7.900 79%
|_NU004 7.900 79% _
U008 14.700 62% 211,600, £:12.100, H:13.400
RR(HE)-RE | R (HE) % |_NUOT 9700 | 85% [£:19300, :21.200
U 7! 9.700 85% :19.300, 1:21.200
RiE% U 7 9,700 85% B
U 7! 13.000 80%
TR (I E) &M% | NUosT | 7 900 | 71%
| NUOS: 7! 10.500 66%
|_NUOS 7! 900 71%
[ NU06T | 7 900 78%
[ NU063 | 7 900 78%
U065 7! 900 78%
%8 (FRER) % |_NUO50 | 7 900 78%
[ NUos2 | 7 900 78%
[ NU054 | 7 900 78%
[_NU058 7! 500 69% 0.400. .
[_NU060 7! 10.000 68% 0.700. £:10.900. H:11.600
U062 7! .900 1% 500, £ H:10.400
HR(PE) =% = OHAM) | NU021 | 7 .700 84% 121,000, £:23.000
ek U022 7! .700 84% :21.000. 1 H:23.000
KR (BAF8)=RiE [ K0 (RH7E) U083 7! 700 82% =
GiE % U086 7! 700 82%
B (P =59 ()| 2 & 2 (P &) 34 _NU04s | 7 300 | 79%
U045 7! 300 79%
uo47 7! .100 79% :11.300, N
U 7! .900 82% :19.000, 1:12.800, 2.000
hiE (BRER) % |_NU 7 10.700 75% | kIKA:9.100. H:13.800
U 7! 9.300 79% |£:12.600. £:10.800. H:19.300
U 7! 13.100 70% | kok:11.800. ZK:12.000. H:20.600
U 7! 600 78% |&£:13.100, H:20.600
B RE)=R1E | () % | _NU0T | 7 100 | 80%
[ NU605 | 7 600 78%
[ NU607 | 7 600 78%
[ NU609 | 7 600 78%
U617 7 .100 80% |+ H:5.600
[_NU621 7 .100 80% |+ H:5.300
U625 7! 00 80%
R/iEsk | _NU600 | 7 00 80%
[ NU608 | 7 00 80%
U610 7 00 80% | A H:5.300, £+:5.200
U612 7 00 80% | A H:5.300, £+:5.200
U614 7! 600 78%
[ NU622 | 7 .600 78%
U626 7 100 80% |&+ H:5.400
HE@AR = h#8 (BRFR) % [_NUS51 7 .400 67% |:KAH:6.100
[ NUS57 | 7 100 74%
[ NU559 | 7 100 74%
[ NU563 | 7 400 72%
[ NU565 | 7 600 77%
[ NU567 | 7 600 77%
us71 7! 600 7%
U573 7 .900 75%
EH% | _NU552 | 7 400 67% | XIKA:6.100
[ NU556 | 7 600 77
[ NU558 | 7 600 77
[ NU560 | 7 600 77
[ NUS62 | 7 400 72%
[ NUS64 | 7 100 74%
[ NU566 | 7 100 74%
us72 7! 100 74%
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- @ | P8 SAFSRR
BAMR [ 3 =
T | @iz i
K (A7)~ (I B) | K0 (BE) 5 |_N0oot | 7 14700 | 62% |2:12.700, 16600, A:11.400
[NUoos [ 7 7.900 | 79%
U009 7 7.900 79% |#:11.100. H:12.100
Tl (BE) % |_NU002 7.900 79%
[_NUOo04 7.900 79%
U008 .700 62% 600, £:12,100, H:13.400
RECAE)-BE | FOR GAE) % [ U0 300 21,200
U 7 .300 .200
TER U 7 300 200
U 7 .800 700
TR AR IE) TWEE [ NUosi | 7 500 | 60% 400
[_NUOS5:. 7 10.500 66% .000
[_NUOS 7 .500 69% .400
[NUosT [ 7 000 900
[NUo63 [ 7 000 900
U065 7 .000 .900
L () % | _NU050 | 7 1000 900
[NUos2 [ 7 000 9.900
[_NU054 7 .000 .900, H:10.600
[_NU058 7 .500 69% 0.400, H:11.100
[_NU060 7 10.000 68% 0,700, £:10,900, H:11.600
U062 7 500 69%
RECHE)-Bh | B CHE)%| NU021 | 7 1000 _|__66%
ek U022 7 .000 66%
Kz (B878)=RiE [ K0 (RH7E) U083 7! .700 1%
=Pk U086 7 1200 | 70%
BB (A - R (P B & 2 (4D F_NU0as | 7 300 | 674
U045 | 7 300 | 67%
U047 | 7 9300 | 79%
U 7 9.300 79%
T (E) % |_NU 7 700 | 75% | H.13. 00
U 7 600 59% A:14.300, 7k +:15.800. H:19.800
U 7 .100 58% | AkJK:16.800, *:1 7.000. 0.600
U 7 .100 58% | AkJK:16.800. *:17.000\ B:
AR -RE | R E) % | NUsol | 7 100 |80t
[NU605 | 7 600 | 78%
[NUs07 [ 7 600 | 78%
[NUs0s [ 7 600 | 78%
U617 7 .300 79% |# 1 H:5.600
[_NU621 7 .200 80% |# 1 H:5.300
U625 7 .100 80%
FE®E | _NU600 | 7 100 80%
[NU60s | 7 100 | 80%
U610 7 .200 80% | B H:5.300
U612 7 .200 80% | B H:5.300
U614 7 .600 8%
[NU622 [ 7 600 | 78%
U626 7 .100 80% |+ H:5.400
e % (3R % |_NUS51 | 7 400 67% [ KAH6.100
[NUss7 [ 7 100 | 74%
[NUSs9 [ 7 100 | 74%
[NUS63 [ 7 400 | 72%
[NUS6s5 | 7 600 | 77%
[NUs67 [ 7 600 | 77%
U571 7 .600 17%
U573 7 .900 75%
EARE | _NUss2 | 7 400 67% | JOKA5.100
[NUSs6 | 7 600 | 77
[NUsss | 7 600 | 77
[NUS60 [ 7 600 | 77
[NUs62 | 7 400 | 72%
[NUS6a | 7 100 | 74%
[NUS66 | 7 100 | 74%
U572 7 .100 74%
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_— &z | FH SRS ER
WAME [ & =
AR | gz o
KBR (B97E) =48 (ARER) | KBx (BAF) F [_NUOOT 7 14.700 62% |#:12.700. £:19.100, H:17.400
["NUoos | 7 7.900 | 79%
U009 7 7.900 79% |#:11.100. H:12.100
B (IRE) 5 [_NU002 7.900 79%
[_NUOo04 7.900 79%
U008 .700 62% H:20.500
TR (RE)-EE | FR (E) & |_NUOT 300
uo7. 7 .300
RIER Uo7 7 .300
Uo7 7 .800
TR TmE  |_NUosi | 7 500 | 60%
[Nuos3 | 7 10.500 | 66%
[NUos7 | 7 500 | 69%
I 000
[NUo63 | 7 000
U065 7 .000
TRl (309 38 |_NU0S0 | 7 000
[Nuos2 | 7 000
[NUos4 | 7 000
["Nuoss | 7 500 | 69% 0
[_NU060 7 10.000 68% H:12.000
U062 7 500 69%
R (PH)=Ed HE (CRHE) % uo21 7! .000 66%
ek U022 7 .000 66%
Kz (B878)=RiE 0 (BA7E) % U083 7! .700 1%
=Pk U086 7 .200 70%
EEE (FE) - HL ()| B AR (F &) 3_NU043 | 7 300 [ 674
U045 | 7 300 | 67%
047 | 7 9300 | 79%
U 7 9.300 79%
R (| U 7 .700 75% B 00
U 7 600 59% | kK:14.300, 7K +:15.800. H:19.800
U 7 .100 58% | kJK:16.800. ‘*:17.000\ 0.600
U 7 .100 58% | AkJK:16.800. ‘*:17.000\ B:
FRBE)-EE | FRLBE) % | NUG01 | 7 100 | s0%
[NU605 | 7 600 | 78%
[NU607 | 7 600 | 78%
[NUG09 | 7 600 | 78%
U617 7 .300 79% t H:5.600
[_NU621 7 .200 80% .300, + H:5.500
U625 7 .100 80% .300. H:5.600
FE%E | NU600 | 7 100 | 80%
[NUGos | 7 100 | 80%
U610 7 .200 80%
U612 7 .200 80%
U614 7 .600 8%
[Nu622 | 7 600 | 78%
U626 7 .100 80%
FRE) S | FROBE % | NUss | 7 400 | 674
[NUs57 | 7 100 | 74%
[NUs59 | 7 100 | 74%
[NUs63 | 7 400 | 72%
[NUS65 | 7 600 | 77%
[NUs67 | 7 600 | 77%
U571 7 .600 17%
U573 7 .900 75%
EA®E | NUss2 | 7 400 | 67
[NUS56 | 7 600 | 77
[NUs58 | 7 600 | 77
[NUs60 | 7 600 | 77
[NUs62 | 7 400 | 72%
[NUs64 | 7 100 7a%
[NUS66 | 7 100 | 74%
U572 7 .100 74%

JTA



TN RFIEER(TAI~11BEESD)

EEERE 2019/01/26 ~
7111
F9 ISR
i B2 | WA [y [E0F o
el L1E: S "
KIR (BI78) =948 (FRER) | ABR (BAF) 5 |_NU0OT | 7. 17.500 £:18.600, £:19.700. H:17.400
[ NU005 | 7! 7.900 £:8.300
U009 | 7! 11.800 £ H:12.800
8 (R 5 |_NU002 11,800 12.800
|_NU004 7.900 0.800
U008 17.500 £:16.600, £:17.200. H:22.000
HR(PE)-RE ESAC DS 7 20.000 0,900, H:22.000
u 7 20.000 22,000
G U 7 20.000 22,000
u 7 22.500 500, H:35.800
TR E= P () S NUO51 | 7 10.100 | 70% :11.100
[ NU053 | 7! 11,300 | 66% 400
[ NU057 | 7! 10100 | 70% .100
[ NU0GT | 7 600 600
[ NU063 | 7! 600 600
U065 | 7! 600 600
8 (AR 5 |_NU050 | 7! 600 600
[ NU052 | 7! 600 600
[ NU054 | 7! 600 :10.300. £ H:10.600
[ NU058 | 7 100 | 70% [£:10.800, £:11.100. H:11.800
[ NU06O | 7! 600 | 68% 1.300, £:11.600. H:12.300
U062 | 7! 100 | 70% 11,100
RR(PE)=EE = (HE) % | NU021 | 7! 800 | 66% 7.900. H:23.800
e U022 | 7! 800 | 66% 3,800, H:32.800
KIR (BT =H1E | Al (BP)% | NU0S3 | 7 000 | 70% —
G 1A 3 U086 | 7. 800 | 70% +18.300. £:18.500. i
BEE () =48 (B & S B (hED) uods | 7! .300 | 69% :17.800, £
U045 | 7! 300 | 69% §
uo47 | 7! 000 | 74%
u 7 000 | 74%
B (AR 5 |_NU 7 200 | T1% Ei
u 7 600 | 62% [A:
u 7 600 | 59% | 7.600. H:20.600
u 7 600 | 59% |X: :17.600, H:20.600
i (B8 =R 18 B (FR3) 5 | _NU601 | 7. .100 7%
[ NU605 | 7 600 76%
[ NU607 | 7 600 76%
[ NU609 | 7 600 76%
U617 | 7 .300 77% | &+ H:6.600
[ NU621 | 7 200 8 £ T 05500
U625 | 7 100 7
GiE% | NUG00 | 7 100 7
[ NU608 | 7 100 7
U610 | 7 200 F] A H:5.500
U612 | 7 200 F] A B:5.500
u6ta | 7 600 76%
[ NU622 | 7 600 76%
U626 | 7 100 77% |+ H:6.400
AHE BT -=n 8 (BRFR) 5 [ _NUS551 7! .800 67 KA H:6.500
[ NU557 | 7 100 71
[ NU559 | 7! 100 71
[ NU563 | 7. 400 69%
[ NU565 | 7 600 73%
[ NU567 | 7. 600 73%
Us71 | 7! 600 73%
U573 | 7 .900 72%
=g [ _NUS52 | 7 800 67% | kokA:6.500
[ NU556 | 7. 600 73%
[ NU558 | 7. 600 73%
[ NU560 | 7 600 73%
[ NU562 | 7 400 69%
[ NU564 | 7. 100 71%
[ NU566 | 7. 100 71%
U572 | 7 100 71%
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F TSR
a B2 | WA [y [E0F prom
el V1L S u
KBR (B97E) =48 (ARER) | KBx (BAF) F [_NUOOT 7! 19.100 53% |%:20.300, +:21.300. H:19.000
[ NU005 | 7 8.300 80%
U009 7! 12.800 69%
B (IRE) 5 [_NU002 12.800 69%
[_NUOo04 8.300 80% :10.800
U008 19.100 53% 8.200. 1:18.800. H:23.200
RE(PA)=RIE RER(PH) % uo7 23.400 66% 4.000, H:25.500
uo7. 7! 23.400 66% :25.500
RiE% Uo7 7 23.400 66%
Uo7 7! 25.900 62%
TR (I E) Mm% | NU0Si | 7 600 | 65%
| NUOS: 7! 600 62%
|_NUOS 7! .600 65%
[ NU06T | 7 .300 66%
[ NU063 | 7 .300 66%
U065 7! 300 66%
B (IRE) 5 [_NUO50 7! 300 66%
[ NUos2 | 7 .300 66%
[ NU054 | 7 .300 66%
[ NU0s8 | 7 .800 64%
[ NU060 | 7 .300 63%
U062 7! .600 65%
BR(PHE) =4 W CRE) uo21 7! 25.200 61%
R U022 7! 25.200 61%
RR(PE)=AXKES uo9t 7! 21.000 62%
U090 7! 13.600 75%
KR (BAF8)=RiE U083 7! 29.400 48%
U086 7! .700 65%
BEE (FH) =59 (IB) U043 | 7 300 |_69%
U045 7! .300 69% =]
uo47 7! .000 74% : 0
U 7! .000 74% :12.600. £:21.200, .300. H:14.300
SR (IRE) U 7! .300 69% :13.200, JKK:12.500, 1:13.900
U 7! .600 62% 8
U 7! 8.600 59%
U 7! 8.600 59%
B ORE)=R1E | 8 (hEm) % | _NU0T | 7 200 | 77%
[ NU605 | 7 .700 75%
[ NU607 | 7 .700 75%
[ NU609 | 7 .700 75%
U617 7 .500 76% |&+ H:6.700
[ NU621 | 7 .200 g %+ H:5.500
U625 7! .200 7
R/iEsk | _NU600 | 7 .200 7
[ NU608 | 7 .200 7
U610 7 .200 8 A H:5.500
U612 7 .200 8 A H:5.500
U614 7! 700 75%
[ NU622 | 7 .700 75%
U626 7 .200 77% |& 1+ H:6.500
FRORT) -Ea | 8 Rm) % | NUSST | 7 200|664 |/kAB:6.900
[ NUS57 | 7 .200 70%
[ NU559 | 7 .200 70%
[ NU563 | 7 .500 69%
[ NU565 | 7 .700 73%
[ NU567 | 7 .700 73%
us71 7! .700 73%
us73 7! .000 1%
EHHE [_NU552 7! 200 66% | k7K A:6.900
[ NU556 | 7 .700 73%
[ NU558 | 7 .700 73%
[ NU560 | 7 .700 73%
[ NUS62 | 7 .500 69%
[ NUS64 | 7 .200 70%
[ NU566 | 7 .200 70%
us72 7! .200 70%
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F TSR
B B2 | WA [y [E0F o
Sl LS "
KBR (B97E) =48 (ARER) | KBx (BAF) F [_NUOOT 7! 19.100 53% |:k:20.000. 7K:25.300. £:20.300, £:21.300. H:19.000
[ NU005 | 7 8.300 80%
U009 7! 12.800 69%
%8 (FRER) % |_NU002 12,800 69%
[_NUOo04 8.300 80% :10.800
U008 19.100 53% |:A:21.100. 7K:25.300. £:18.200, +:18.800. H:23.200
RR(HE)-RE | R (HE) % |_NUOT 23400 | 66% : 00
uo7. 7! 23.400 66%
RiE% Uo7 7 23.400 66%
Uo7 7! 25.900 62% 28.700. 1:28.000. H:38.900
TR (I E) EEE NUOST | 7 600 | 65%
| NUOS: 7! 600 62%
|_NUOS 7! .600 65%
[_NUO61 7! 300 66% |7 .600
[_NU063 7! 300 66% |7 .600
U065 7! 300 66% |7 .600
%8 (FRER) % |_NUO50 | 7 .300 66% |71 .600
[_NU052 7! 300 66% |7 .600
[_NU054 7! .600 65% 300
[_NU058 7! .800 64% ,600, £:12.500
[_NU060 7! .600 62% |HX .300
U062 7! .600 65%
R (PH)=Ed W CRE) uo21 7! 25.200 61% |7k:27.700. £:31.000. H:27.100
R U022 7! 25.200 61% |7k:27.700. £:27.100. H:35.900
RE(HE)=AXS W CRE) uo9t 7! 21.000 62% |7k:21.700, € +:22.000. H:20.100
AKEF U090 7! 13.600 75% :17.400
PNAC TG Kz (BA7E) % | NUO083 | 7 20,400 48% 1.000. 7K:32.800.
HiEH U086 7! .700 65% 1.200. 7K:21.900,
B (PH) =9 ()| 2 & 2 (P 34 _NU04s | 7 300 | 69% 7.800, K:18.200,
U045 7! .300 69% :17.800. 7K:18.200,
uo47 7! .600 72% | KAR:12,000,
U 7! .000 74% | H:12.600. 7}
ShiE (BRER) % |_NU 7 .200 71% | A:12.500,
U 7! .600 62% :18.100, 19.800
U 7! .600 59% |::17.000. 7K:19.600. A:17.600, £:18.100. H:20.600
U 7! .600 59% |:A:17.000. 7K:19.600. :17.600, £:18.100. H:20.600
B ORE)=R1E | 8 (hEm) % | _NU0T | 7 200 | 774 6500
[_NU605 7! 700 75% .200, 7k:7.300
[_NU607 7! 700 75% 7.200. 7K:7.300
[_NU609 7! 700 75% 7.200. 7K:7.300
U617 7 .500 76% &1 H:6.700
[_NU621 7 .200 8 :6.200, €+ H:5.500
U625 7! .200 7 .500
R/iEsk | _NU600 | 7 .200 7 :6.500
[ NU608 | 7 .200 7 6.
U610 7 .200 8 :5.500, 7k:6.200
U612 7 .200 8 A 500, 7K:6.200
U614 7! 700 75% 1200, 7K:7.
[_NU622 7! 700 75% 200 7K:7.300
U626 7 .500 76% | A A:6.200. X:6.900. 7K:7.200
HE@AR = h#8 (BRFR) % [_NUS51 7 200 66% K H:6.900
[ NUS57 | 7 .200 70% 00. 7K:6.
[ NU559 | 7 .200 70%
[ NU563 | 7 .500 69%
[ NU565 | 7 .700 73%
[ NU567 | 7 .700 73%
us71 7! .700 73%
us73 7! .000 1%
EH% | _NU552 | 7 200 66%
[ NU556 | 7 .700 73%
[ NU558 | 7 .700 73%
[ NU560 | 7 .700 73%
[ NUS62 | 7 .500 69%
[ NUS64 | 7 .200 70%
[ NU566 | 7 .200 70%
us72 7! .200 70%
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F TSR
B B2 | WA [y [E0F o
el LS "
KBR (B97E) =48 (ARER) | KBx (BAF) F [_NUOOT 7! 25.300 38% |H:19.100. %:20.000. £:20.300, £:21.300. H:19.000
[_NU005 7! 8.300 80% :11.400
U009 7! 12.800 69% :15.500, Z:15.000
%8 (FRER) % |_NU002 12.800 69% | A KJK:15.500_
[_NUOo04 8.300 80% K:11.400, H:8.900
U008 25.300 38% :19.100. k:21.100. £:18.200. +:18.800. H:33.000
ESAC L W (FIE) % |_NU07 42.700 38% :33.700. £ H:34.300
uo7. 7! 26.200 62%
RiE% Uo7 7 .000 65%
Uo7 7! .700 51%
TR (I E) EEE NUOST | 7 600 | 56%
| NUOS: 7! .600 53%
|_NUOS 7! .000 55%
[ NU06T | 7 .600 65% )
[ NU063 | 7 .600 65% )
U065 7! .600 56%
%8 (FRER) % |_NUO50 | 7 600 56% 5
[ NUos2 | 7 600 56% B
[ NU054 | 7 .600 65% )
[ NU0s8 | 7 100 55%
[ NU060 | 7 100 55%
U062 7! .600 56% K
HR(PE) =% He CRE) % | NU021 | 7! 9.700 39% 000, £t .300
R U022 7! 32.700 49% H:33.300
HR (PH)-AKE U091 | 7 27.500 50% 26.400. 7K:28.000. % +:28.500
U090 7! 13.600 75% 17.400
PVAGCTE U083 | 7 29.300 48%
U086 7! 23.400 59%
B E (P =% (I E) U043 |7 23.500 49% H:21.300
U045 7! 23.500 49% H:21.300
uo47 7! .100 60% 300, £:17.600
U 7! .300 60% 8.300, F:18.100, H:18.800
8 () % |_NU 7 300 | 64%
U 7! .600 59% 18.000, +:18.200. H:20.100
U 7! 300 53%
U 7! 300 53%
B ORE)=R1E | 8 (hEm) % | _NU0T | 7 300 | 734
[ NU605 | 7 .300 73%
[ NU607 | 7 400 73%
[ NU609 | 7 .300 73%
U617 7 .300 73% K:7.200
[_NU621 7! .800 75% | A:6.700, € +:7.000. H:7.200
U625 7 200 73% |£+H:7.300
R/iEsk | _NU600 | 7 300 73% | K7KA:7.200
[_NU608 7 .300 73% [ kokA:7.200
U610 7 .700 75%
U612 7 .700 75%
U614 7! 300 73%
[ NU622 | 7 .300 73%
U626 7! .300 7
FRORT) -Ea | 8 Rm) % | NUSST | 7 900 | 6
[ NU557 | 7 .800 6
[ NU559 | 7 .800 6
[ NU563 | 7 100 66%
[ NU565 | 7 .800 67%
[ NU567 | 7 .800 67%
us71 7! .800 67%
us73 7! 100 66%
EH% | _NU552 | 7 900 KK A:7.600
[ NU556 | 7 .800
[ NU558 | 7 .800
[ NU560 | 7 .800
[ NUS62 | 7 100 66% |71
[ NUS64 | 7 .800 67% |7l
[ NU566 | 7 .800 67% |7l
us72 7! .800 67% |7

JTA



ISR FIEER (8BA19~25B1EFE)

EEHEAR 2019/01/26 ~
8/19-25
F DS ER
B B2 | WA [y [E0F o
Sl LS "
KBR (B97E) =48 (ARER) | KBx (BAF) F [_NUOOT 7! 17.100 58% |H:17.400. £:15.000. £:19.100, H:13.700
[ NU005 | 7 8.300 80%
U009 7! 12.800 69% :13.900
%8 (FRER) % |_NU002 12,800 69% :13.900
[_NUOo04 9.200 7% :10.200
U008 17.100 58% :20.000. £:13.900. +:14.400, H:22.300
W (CPE)-&E R (CFH) % |_NU07 26.800 61% 38.700. % 1+:28.400
uo7. 7! 23.400 66% :25.500
RiE% Uo7 7 23.400 66% :24,000
Uo7 7! 29.800 57% 13,700, H:30.500
BE=PE () e NUO5 7 .700 65% 12.600
[_NUOS5:. 7! .600 62% 2.900
[_NUOS 7! .600 65% .800
[_NUO61 7! 300 66% .600
[_NU063 7! 300 66% .600
U065 7! 300 66% .600
%8 (FRER) % |_NUO50 | 7 .300 66% 600
[_NU052 7! 300 66% | .600
[_NU054 7! 300 66% £ H:11.600
[_NU058 7! 800 64% 212,500, 1 H:12.600
[_NU060 7! .300 63% £ H:12.600
U062 7! .600 65% :11.900
PNAC T Kz (BA7E) % | NUO083 | 7 .300 57% :23,000, A:22.200
HiEH U086 7! 200 63% |+ H:22.900
BHE (PE) =5 ZHE(PE) U043 7! .300 69% |H:17.800. £:18.700. +:19.800, H:17.200
U045 7! .300 69% |H:17.800. £:18.700. +:19.800, H:17.200
uo47 7! .600 72% | £:13.300
U 7 .000 74% H:12.600. £:22.700, +:13.300. H:14.300
ShiE (BRER) % |_NU 7 700 70% | A:14.200, £:15.300. £:14.300. H:14.800
U 7! .600 59% F £:18.800. H:20.800
U 7! .100 58% 20.800
U 7! 100 58% 1:20.¢
R RE)=R1E | 8 (Rm) % | _NU0T | 7 000 | 744 [JXKA
[ NU605 | 7 600 72% KK 7.
[ NU607 | 7 600 72% KK
[_NU609 7! .600 2% X7K:7.200
U617 7! .800 75%
[ NU621 | 7 .200 81%
U625 7! .800 75%
RiE% NU600 | 7! 000 74
[ NU608 | 7 000 74
U610 7! .200 77
U612 7! .200 77
U614 7! 200 73
[ NU622 | 7 1200 73%
U626 7! .800 75%
HEAR-=n h#8 (BRFR) % [_NUS51 7 800 63% |/KAH:7.500
[ NUS57 | 7 1000 67%
[ NU559 | 7 000 67%
[ NU563 | 7 .300 65%
[ NU565 | 7 .500 69%
[ NU567 | 7 .500 69%
us71 7! .500 69%
us73 7! .800 67%
EH% | _NU552 | 7 800 63% | AIKA:7.500
[ NU556 | 7 .500 69%
[ NU558 | 7 .500 69%
[ NU560 | 7 .500 69%
[ NUS62 | 7 300 65% | H:7.700
[ NUS64 | 7 .000 67% | H:7.400
[ NU566 | 7 000 67%
us72 7! .000 67%
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8/26-31
P4 SIES5ER
= B8 | i [ T W
wam |G, [res
ShiR (ARER) % U090 7 10.600 78% | +:16.500
KRR (B878) F [_NUOOT 7 17.100 58% |%:15.000, £:18.700
[NUoos [ 7 8300 | 80%
U009 7 12.800 69% | +:12.100
B (IRE) 5 [_NU002 12.800 69% | +:12.100
[_NUOo04 9.200 17%
U008 17.100 58% |:13.900, +:14.100
RR(CPHE)=RiE RR(PH) % uo7 26.800 61% £ 1:28.400
uo7. 7 23.400 66%
TER 070 | 7! 23.400 | 66%
Uo7 7 29.800 57%
FEETeT) TER N5t | 7 700 | _66n
[NU0s3 [ 7 600 | 62%
[NU0s7 [ 7 600 | 65%
[NUosT [ 7 300 | 66%
[NUo63 [ 7 300 | 66%
U065 7 .300 66%
B (IRE) F [_NUO50 7 .300 66%
[NUos2 [ 7 300 | 66%
[_NUO054 7 .300 66% . 1:10.800
[_NU058 7 .800 64% . 1:11.300
[_NU060 7 .300 63% . 1:11.800
U062 7 .600 65% 0
RE(HE)=AXS HE(CRHE) % uo91 7 26.100 52% . 1:25.600
KEH U090 7 .600 75% 0
Kz (B878)=RiE KO (BA7E) % U083 7 .300 57% 1:23.800
AiEE U086 7 .200 63% .900
ZEE (FE AT B E (P _NU0 | 7 300 | 69% [/5.17.800. 16,700 19800
U045 7 .300 69%
uo47 7 .000 74%
U 7 .000 74%
T 5 | U0z | 7 200 | 71 ‘
U 7 600 62% :18.100, 7K:17.000,
U 7 .600 59% £:17.000, 7k +:18.100,
U 7 .600 59% 7.000., 7k+:18.100.
ARG EE | FAGH R | N0t | 7 500 | 75% 0 %5400, 5
[NU605 | 7 200 | 73%
[NUs07 [ 7 200 | 73%
[NUs0s [ 7 200 | 73%
U617 7 .800 75%
[NUe21 [ 7 200 | 81%
U625 7 .800 75%
FE®E | NU600 | 7 800 | 75%
[NUs0s | 7 800 | 75%
U610 7 .200 81%
U612 7 .200 81%
U614 7 200 13%
[NU622 [ 7 200 | 73%
U626 7 .800 75% N &
AR -ES | 7R E) 5 | NUssi | 7 800 |63 _[kR1500
[NUss7 [ 7 000 | 67%
[NUSs9 [ 7 000 | 67%
[NUS63 | 7 300 | 65%
[NUS65 | 7 500 | 69%
[NUs67 [ 7 500 | 69%
U571 7 .500 69%
U573 7 .800 67%
EARE | NUss2 | 7 800 | 63%
[NUSs6 [ 7 500 | 69%
[NUSss | 7 500 | 69%
[NUS60 [ 7 500 | 69%
[NUs62 | 7 300 | 65%
[NUS6a | 7 000 | 67%
[NUS66 | 7 000 | 67%
U572 7 .000 67%
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KR (&) -R1E Tz (A7) % | NU0S3
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BEE (P E) =5

(R H) B H E (haEp) U043

SR (AR ER) ¢ | NU

FRNE-RE | A GhE) % | NUGO
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U609
U617
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U625
EES% | _NU600
U608
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U612
U614
U622
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[_NUo05 | 7! 300
U009 | 7 12.800
S (35%R) % |_NU002 12.800
[_NU004 300
U008 25,300
RER(CPE)=7E RRCRE) % Uo7 33.700
uo7: 26.200
RiER Uo7 24,000
Uo7 33,700
RERCPE)=EH H (CFW) $ uo2 2.700
% U022 700
RRCHE)=A%E | ®mCHE) % | NU0OI 100
KBF U090 600
Kz (&) =R 1E iz (B 75) % | NU0B3 800
Giag U086 400
HEE (P ED) =048 ()| B 5 E (P ) U g .ggg
U047 600
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B (ARER) % [_NU .700
u 600
u 100
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6.500

iR () =R1E SR (HRER) 58 | ! U

RER

iR (B =EE SR (AR ) 58 | !

1] S]] 1) 1)) ) ) ) ) )] ) ) 1)) ) S ] S]] ]IS ] ] ) ] ) ) ) S]] )] S]] ) ) ) ] ) ) Y ) Y )
N
=
S|




TMIILNSRFIEER(BAI~16BEESD) JTA

SEEEAE : 2019/01/26 ~

8/9 8/10 8/11 8/12 8/13 8/14 8/15 8/16
4] % FH " DIVESHEE | JINESHE | DINESEE | VINNSRE [ VIVLSERE | VILESER | VILESEE | DILESEE
BAME | gmm | mRe | @mE | SRE | @RE | SRE | SRE | GRS
ShiR (ARER) % U090 7 14.600 15.600 16.000 16.400 .700 28.200 30.500
I (R975) % | _NU00T | 7 29.300 34.800 20.700 20.700
[_NU005 7 17.300 11.300 10.900
U009 7 24.800 15.500 15.500
Tl (BE) % |_NU002 13.500 16,100 16,100
[_NUOo04 8.900 26.900 26.900
U008 .800 28.300 7.000
RECAE-BE | FOR GAE) % [ U0 900 700 700
uo7. 7 .900 500 500
TER U070 |7 500 900 900
Uo7 7 .000 900 900
TR AR IE) WEE [ NUosi [ 7 800 200 300
[_NUOS5:. 7 .200 20.200 500
[_NUOS 7 .100 800 300
[_NUO61 7 .300 800 900
[_NU063 7 .300 800 900
U065 7 .300 000 500
Tl (IhH) % | _NU050 | 7 200 200 700
[_NU052 7 .200 200 700
[_NUO054 7 .000 23.500 23.500
[_NU058 7 .500 23.500 23.500
[_NU060 7 .200 23.500 23.500
U062 7 .000 3.500 3.500
RR(PH)=-Ed HE(CRHE) % uo21 7! 58.600 000 600
ok U022 7 38.800 500 500
RE(HE)=AXS HE(CRHE) % uo9t 7! 5.000 600 600
AKEF U090 7 7.600 200 500
R (8@ -Gl | Kb (Ba7)% | NU0s3 | 7 100 500 500
AiEE U086 7 .000 900 900
BB (P A - R BB & & 2 (&) F_N0as | 7 700 700 700
U045 7 .700 700 700
uo47 7 .900 300 600
U 7 .200 300 600
T (E) % |_NU 7 8.500 400 400
U 7 2.300 36.800 800
U 7 23.700 35.800 35.800
U 7 23.700 35.800 35.800
FRAE-RE | AR R | NUol | 7 100 7.100 [ 7.100
[NU605 | 7 000 000 000
[NU607 | 7 000 000 000
[NU60s | 7 100 000 000
U617 7 100 100 100
[_NU621 7 200 6.700 6.200
U625 7 200 7.100 7.100
FE®E | NU600 | 7 100 7.400 7.800
[_NU608 7 100 7.400 7.800
U610 7 .700 7.400 7.800
U612 7 .700 7.400 7.800
U614 7 .000 8.500 7.900
[_NU622 7 .000 8.500 7.900
U626 7 100 7.400 7.800
AREE-ES | AR R | NUss | 7 500 7600 | 7600
[NUss7 | 7 200 7.100 7.100
[NUSs9 | 7 600 7.100 7.100
[_NU563 7 .900 7.400 7.400
[NUS65 | 7 600 500 600
[NUs67 | 7 600 600 600
U571 7 .600 600 600
U573 7 .900 900 900
EAE | NUss2 | 7 900 600 600
[NUSs56 | 7 600 700 900
[NUSs8 | 7 600 700 900
[NUS60 | 7 600 700 900
[NUs62 |7 400 500 700
[_NU564 7 100 7.200 7.400
[_NU566 7 100 7.200 7.400
U572 7 100 7.200 7.400
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SEEEAE : 2019/01/26 ~

8/17 8/18
FH | kSl [ vAr5%E
i B2 | AR [ —=
EEE AR

KB (BEEE) =348 (&) | KMk (BIFE) 5 [_NUOO1 7 19.000
[NU00s | 7 300
U009 | 7 500
B (ARER) 5 [_NU002 .100
[ NU004 900
U008 800
RER(CPE)=7E RRCRE) % uo7 .700
U073 | 7 500
RIER Uo7 7 .900
076 | 7 .900
1EE=4E (PH) E@% [ _NUos 7 300
[_NU053 | 7! 1000
[_NU057 |7 300
[NUo6i | 7 800
[NUoe3 | 7 .900
U065 | 7 300
0 GIbHR) € |_NU0S0 | 7 200
[Nuos2 | 7 .200
[NUos4 | 7 500
[Nuoss | 7 500
[NUoGo | 7 500
uo62 | 7 500
KWR () =F18 | Al (Bi78)% | NU083 | 7. 100
GiEE 06 | 7 900
BEE(PER)=> B R (hE) U043 7 .000
045 | 7 000
uo47 | 7 700
U 7 700
SRR (RE) R U 7 1400
U 7 36.800
U 7 35.800
U 7 35.800
RE) -EE B (ARER) % [_NU60 7 .000
[NU605 | 7 200
[NUs07 | 7 200
[NUs0g | 7 200
uei7 | 7 000
[Nue2i | 7 500
U625 | 7 000
TE% | _NU600 | 7 800
[NU6os | 7 800
6o | 7 800
62 | 7 800
uet4 | 7 900
[Nue22 | 7 900
U626 | 7 800
HREBBR)-EE B (ARFR) 5 [_NUSS1 7 .900
[ NUS57 | 7 1000
[NUsse | 7 000
[NUs63 | 7 300
[NUs65 | 7 500
[NUs67 | 7 500
us7i | 7 500
us’3 | 7 800
EEE | _NUs52 | 7 900
[NUsS6 | 7 900
[NUsss | 7 900
[NUs6o | 7 900
[NUs62 | 7 700
[NUs64 | 7 400
[NUs66 | 7 400
us72 | 7 400




TN RFIEER(OA2~12BEES)

EEERE 2019/01/26 ~
9/2-12
Fi9 ISR
= B2 | ABR [ [EER P
ol 71T u
KB (B3%E) =948 (FR¥R) | AR (BAF) 5 | _NU0OT | 7 15500 | 60% | A:15.200. %:13.400, £:17.400, H:12.100
[ NU005 | 7 8.300
U0y | 7 12.100
8 (R 5 |_NU002 12.100
|_NU004 9.100
U008 500
R (FE) =R R CRE) 5 7 .200
u 7 .200
G U 7 .200
u 7 700
1= () 18RS NU051 | 7 0.400
[ NU053 | 7 11.600
[ NU057 | 7 10.400
[ NU0GT | 7 .900
[ NU063 | 7 .900
U065 | 7 .900
S8 (AR 5 |_NU050 | 7 .900 X
[ NU052 | 7 .900 68% :10.800
[ NU054 | 7 .900 68% 110,600, £ H:10.800
[ NU058 | 7 10400 | 66% +11.100. £:11.300, H:12.000
[ NU0GO | 7 10900 | 65% 1,600, £:11.800. H:12.000
U062 | 7 10400 | 66%
HR(PE)=Bh | @ma|)$| NU021 [ 7! 23.000 | 63%
BT U022 | 7 3.000 3
KRR (B§E)=F1E | KMu(BfwE) % [ NUO0S3 [ 7t 400
G 1A 3 U086 | 7 800
BEE () =48 (B & S B (hED) uods | 7 .300
U045 | 7 300
uo47 | 7 .000 2%
u 7 .000 72%
B (AR 5 |_NU 7 .200 70%
u 7 600 | 59%
u 7 600 | 57%
u 7 600 | 57%
i (B8 =R 18 B (FR3) $& |_NU601 | 7 .300 79%
[ NU605 | 7 800 78%
[ NU607 | 7 800 78%
[ NU609 | 7 .800 78%
U617 | 7 .300 79% |2+ H:5.600
[ NU621 | 7 .200 80% | H:5500
U625 | 7 .300 79%
HiE% | _NUG00 | 7 .300 79%
[ NU608 | 7 .300 79%
U610 | 7 .200 80% | A H:5500
u6t2 | 7 .200 80% | A H:5.500
u6ta | 7 800 78%
[ NU622 | 7 .800 78%
U626 | 7 .300 79% |21 H:5.600
AHE BT -=n 8 (BRFR) 5 [ _NUS551 7! 400 7% |/KAKH:6.100
[ NU557 | 7 300 | 73%
[ NU559 | 7 .300 3%
[ NU563 | 7 600 1%
[ NU565 | 7 700 76%
[ NU567 | 7 700 76%
Us71 | 7 700 76%
U573 | 7 .900 75% | A% H:5.000
E&s | _NUS52 | 7 .400 67% | X7KK:6.100
[ NU556 | 7 700 76%
[ NU558 | 7 700 76%
[ NU560 | 7 700 | 76%
[ NU562 | 7 600 1%
[ NU564 | 7 300 | 73%
[ NU566 | 7 300 | 73%
Us72 | 7 .300 3%
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ISR FIEER(OA17~30BEFED)

EEERE 2019/01/26 ~
9/17-19,9/24-30
Fi9 ISR
= B2 | ABR [ [EER P
ol 71T u
KIR (BIE8) =948 (FRER) | ABR (BAF) 5 |_NU0OT | 7 15500 | 60% |A:15.200. & H:13.400, £:17.400
[ NU005 | 7 8.300 78% | A% +:8.100
U0y | 7 11.600 70% | X7k :12.100
8 (R 5 |_NU002 11.400 70% | k7KA:12.100
|_NU004 9.100 76% .900, H:10.200
U008 500 | 60% 112,300, £:12.800
R (FE) =R R CRE) 5 7 200 | 68%
u 7 200 | 68%
G U 7 200 | 68%
u 7 700 | 64%
TR E= P () FES NUO51 | 7 0400 | 66% 19,900, F H:10.800
[ NU053 | 7 11.600 | 62% [H2:10.600. £ H:11.500
[ NU057 | 7 10400 | 66% 19,900, H:10.800
[ NU0GT | 7 .900 68% .800
[ NU063 | 7 .900 68% .800
U065 | 7 .900 68% .800
S8 (AR 5 |_NU050 | 7 .900 68% .800
[ NU052 | 7 .900 68% |+ H:10.800
[ NU054 | 7 .900 68% |2:10.600. £ H:10.800
[ NU058 | 7 10400 | 66% +11.100. £:11.300, H:12.000
[ NU0GO | 7 10900 | 65% 110,500, :11.200, £:11.400. H:12.000
U062 | 7 10400 | 66% |H<:9.900, £ H:10.800
RR(PE)=EE T (PE) $ | NU021 | 7 23000 | 63% |H% g
BT U022 | 7 3.000 | 63% E:
K (BdE)=7iE [ K (RA7E) 5 uos3 | 7 .400 61% B
G 1A 3 U086 | 7 800 | 67% |
BEE () =48 (B & S B (hED) uods | 7 .000 | 65% [A:
U045 | 7 000 | 655 |A:
uo47 | 7 600 71% |7}
u 7 600 71% |7}
B (AR 5 |_NU 7 .800 68% |7
u 7 600 | 59% [A:
u 7 .600 | 57% |7
u 7 .600 | 57% |
i (B8 =R 18 B (FR3) $& |_NU601 | 7 .300 79%
[ NU605 | 7 800 78%
[ NU607 | 7 800 78%
[ NU609 | 7 .800 78%
U617 | 7 .300 79% |2+ H:5.600
[ NU621 | 7 .200 80% | H:5500
U625 | 7 .300 79%
HiE% | _NUG00 | 7 .300 79%
[ NU608 | 7 .300 79%
U610 | 7 .200 80% | A H:5500
u6t2 | 7 .200 80% | A H:5.500
u6ta | 7 800 78%
[ NU622 | 7 .800 78%
U626 | 7 .600 78% | H:5.300. /KA:5.800
AHE BT -=n 8 (BRFR) 5 [ _NUS551 7! 400 7% |/KAKH:6.100
[ NU557 | 7 300 | 73%
[ NU559 | 7 .300 3%
[ NU563 | 7 600 1%
[ NU565 | 7 700 76%
[ NU567 | 7 700 76%
Us71 | 7 700 76%
U573 | 7 .900 75% | A% H:5.000
E&s | _NUS52 | 7 .400 67% | X7KK:6.100
[ NU556 | 7 700 76%
[ NU558 | 7 700 76%
[ NU560 | 7 700 | 76%
[ NU562 | 7 600 1%
[ NU564 | 7 300 | 73%
[ NU566 | 7 300 | 73%
Us72 | 7 .300 3%
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B B4 Fi9 ISR
FEAJAR [ g ] [
ol 71T u
KBR (B97E) =48 (ARER) | KBx (BAF) F [_NUOOT 7! 15.500 60% | H:15.200, £:13.400. £:17.400. H:12.100
[_NU0o5 | 7 8300 78%
U009 7! 12,100 68%
S (3585 56 |_NU002 12,100 68%
[_NUOo04 900 77%
U008 .500 60% |<#:12.300, £:12.800, H:19.500
R (FE) =R R CRE) 5 7 1200 68% :23.200
U 7! .200 68%
FER U 7! 1200 68%
u 7! 700 64%
1= () 18RS NU051 | 7 .900 68%
["NU0s3 | 7! 10.600 | 66%
["NU0S7 | 7 .900 68%
[_NUo6T | 7 .900 68%
["NU063 | 7 .900 68%
U065 7! .900 68%
S (30%R) 5 |_NU050 | 7 .900 68% X
[_NU052 7! .900 68% |+ H:10.800
[_NU054 7! .900 68% |<:10.600. 1 H:10.800
[_NU058 7! 10.400 66% |<#:11.100, £:11.300, H:12.000
[_NU060 7! 10.600 66% |<#:11.300, £:11.600, H:12.000
U062 7!
RR(PE)=-E = CRIE) % | NU021 | 7
m U022 7!
KRR (B§E)=F1E | KMu(BfwE) % [ NUO0S3 [ 7t
GiE % U086 7!
BEE () =48 (B & S B (hED) u g _7,
uo47 7!
U 7!
B (AR 5 |_NU _7,
U 7!
U 7!
i (B8 =R 18 B (FR3) $& |_NU601 | 7
[_NU605 | 7
[_NU607 | 7
["NU609 | 7 ¥
U617 7 .300 79% |#£+ H:5.600
[NU621 | 7 200 80% | £ T H:5.500
U625 7! .300 79%
EES% | _NU600 | 7 ,300 79%
[_NU6o8 | 7 .300 79%
U610 7 .200 80% | A H:5.500
U612 7 .200 80% | A H:5.500
U614 7 .800 78%
[ NU622 | 7 .800 78%
U626 7 300 | 79% [7k:5.800. £+ H:5.600
AHE BT -=n 8 (BRFR) 5 [ _NUS551 7! 400 7% |/KAKH:6.100
[ NUS57 | 7 300 | _73%
[ NUS59 | 7 .300 3%
[NUS63 | 7 .600 1%
[NUS65 | 7 700 76%
[ NUS67 | 7 700 76%
U571 7 700 76%
U573 7 .900 75% | H£H:5.000
Bh% | NUS52 | 7 400 67% | XkIKA:6.100
[ NUS56 | 7 700 76%
[ NUSs8 | 7 700 76%
[_NUS60 | 7 700 | 76%
[ NUS62 | 7 .600 1%
[ NUS64 | 7 .300 | 73%
[ NUS66 | 7 .300 | 73%
U572 7 .300 3%
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10/15-17.10/23-26
Fi9 ISR
= B2 | ABR [ [EER P
ol 71T u
KIR (BIE8) =948 (FRER) | ABR (BAF) 5 |_NU0OT | 7 15500 | 60% |2:13.400. F:17.400
[ NU005 | 7 8.300 78%
U0y | 7 12.100 68%
8 (R 5 |_NU002 12100 | 68%
|_NU004 900 77%
U008 500 | 60% |2:12.300. £:12.800
R (FE) =R R CRE) 5 7 200 | 68% 23200
u 7 200 | 68%
G U 7 200 | 68%
u 7 700 | 64%
1= () 18RS NU051 | 7 0400 | 66%
[ NU053 | 7 11,600 | 62%
[ NU057 | 7 10400 | 66%
[ NU0GT | 7 .900 68%
[ NU063 | 7 .900 68%
U065 | 7 .900 68%
S8 (AR 5 |_NU050 | 7 .900 68%
[ NU052 | 7 .900 68% X
[ NU054 | 7 .900 68% 600, £:10.800
[ NU058 | 7 10400 | 66% 100, £:11.300
[ NU0GO | 7 10900 | 65% . £:11.800
U062 | 7 10400 | 66%
HR(PE)=Bh | @ma|)$| NU021 [ 7! 23.000 | 63%
BT U022 | 7 3.000 3
KRR (B§E)=F1E | KMu(BfwE) % [ NUO0S3 [ 7t 400
G 1A 3 U086 | 7 800
BEE () =48 (B & S B (hED) uods | 7 .300
U045 | 7 300
uo47 | 7 .000 2% NEHEE
u 7 000 72% #:17.000, £:13.300
B (AR 5 |_NU 7 .300 67% X
u 7 600 | 59% .00, £:17.800
u 7 600 | 57% 18.100, A:17.600
u 7 600 | 57% 18.100, A:17.600
i (B8 =R 18 B (FR3) $& |_NU601 | 7 .300 79%
[ NU605 | 7 800 78%
[ NU607 | 7 800 78%
[ NU609 | 7 .800 78%
U617 | 7 .300 79% |2 15,600
[ NU621 | 7 .200 80% |2 1:5500
U625 | 7 .300 79%
HiE% | _NUG00 | 7 .300 79%
[ NU608 | 7 .300 79%
U610 | 7 .200 80%
u6t2 | 7 .200 80%
u6ta | 7 800 78%
[ NU622 | 7 .800 78%
U626 | 7 .300 79% |2 15,600
AHE BT -=n 8 (BRFR) 5 [ _NUS551 7! 400 7% | 7KA:6.100
[ NU557 | 7 300 | 73%
[ NU559 | 7 .300 3%
[ NU563 | 7 600 1%
[ NU565 | 7 700 76%
[ NU567 | 7 700 76%
Us71 | 7 700 76%
U573 | 7 .900 75% | £::5.000
E&s | _NUS52 | 7 100 69% |2 1:6.400
[ NU556 | 7 700 76%
[ NU558 | 7 700 76%
[ NU560 | 7 700 | 76%
[ NU562 | 7 600 1%
[ NU564 | 7 300 | 73%
[ NU566 | 7 300 | 73%
Us72 | 7 .300 3%

JTA



YLNSERIEER(OAI1BERS) JTA

SEEEAE : 2019/01/26 ~

9/1
IINESHEE

ERE

P4
= B2 | mamm

KR (BAEE) =ik (AER) | KRR (BAFE) % | N

N
o
S|
S|

SR (ARER) 58 ||

RRECPE)=RIE AR CRE) #

RiER
1= () 18RS

SR (ARER) 58 | !

K (BdE)=HiE KB (RETE)
HiEg

BEE (PR =k (RE)| B EE (PED)

SR (AR ER) R

iR () =R1E SR (HRER) 58 | ! U

RER

iR (B =EE SR (AR R) 58 | !

] S]] 1) 1) 1)) ) ) ) ) ] ) ) S]] S]] ) 1) ) ) ) S]] ) ] ) ) ) ) ) S]] S]] ) ) ) ] ] S]] ] ) ) ) ) ) ) ) Y )
oo|
S|
S|




TS5 BIEER(OAII~I6BEES)

EEEMA . 2019/01/26 ~
9/13 9/14 9/15 9/16
4] B2 Fi " YRS | YIRS | DILESRE | IESEE
BARE [ gmm | mrm | @mE | =@
KR (B R R E) | KR () % | N0t |7 700 500
[NU005 |7 000 100
U009 7 .600 .500
B (IRE) 5 [_NU002 .600 13.400
[_NUOo04 8.300 8.900
U008 16.700 15.200
RECAE)-BE | FOR GAE) % [ U0 21200 | 50100
uo7. 7 26.400 41.000
RIEFH Uo7 7! 21,200 23.200
Uo7 7 23.700 25.700
TR AR IE) WEE [ NUosi [ 7 9600 | 23300
[_NUOS5:. 7 10.600 23.300
[_NUOS 7 9.900 20.200
[_NUO61 7 11.000 .000
[_NU063 7 11.000 .200
U065 7 13.600 500
B (IRE) 5 [_NUO50 7 9.900 .600
[NUos2 |7 9,900 600
[_NU054 7 10.600 .100
[NUos8 |7 000 900
[NU060 |7 000 400
U062 7 .000 .400
R (PH)=Ed HE (CRHE) % uo21 7 22.400 .000
ek U022 7 22.400 4.300
Kz (B878)=RiE 0 (BA7E) % U083 7 22,500 1.000
=Pk U086 7 22.600 22.100
BB (P AR BB & & 2 (B aD F_Nas | 7 20200 | 32700
U045 7 20.200 700
uo47 7 13.700 .200
U 7 20.300 .300
R GIE) % | NU 7 300 000
U 7 .800 .600
U 7 .600 .600
U 7 .600 | 18.600
ARE)-RE | AR R [ NUol | 7 600 200
[NU605 | 7 100 500
[NU607 |7 100 7.500
[NU60s | 7 1100 7.500
U617 7 .600 7.100
[NU62t | 7 500 200
U625 7 .300 .000
FE®E | NU600 | 7 400 600
[NU608 | 7 400 600
U610 7 .200 .200
U612 7 .200 .200
U614 7 .900 .900
[NU622 | 7 900 200
U626 7 .700 5.700
AR -ES | AR R | NUss | 7 200 | 7700
[NUss7 | 7 600 400
[NUSs9 | 7 600 400
[NUS63 | 7 900 700
[NUS65 | 7 900 700
[NUs67 | 7 900 500
U571 7 .900 .500
U573 7 .200 .800
EARE | NUss2 | 7 400 400
[NUSs56 | 7 800 200
[NUSs8 | 7 800 200
[NUS60 | 7 800 200
[NUs62 |7 700 400
[NUs6a | 7 400 200
[NUS66 | 7 400 200
U572 7 .400 .200

JTA



TS5 RB I EER(9A20~23BEES)

EEEMA . 2019/01/26 ~
9/20 9/21 9/22 9/23
4] B2 Fi " YRS | YIRS | DILESRE | IESEE
BARE [ gmm | mrm | @mE | =@
KR (B R R E) | KR () % | N0t |7 2100 500
[NU005 |7 8.900 600
U009 7 16.500 .400
B (IRE) 5 [_NU002 11.400 13.200
[_NUOo04 8.300 8.900
U008 16.700 15.200
RECAE)-BE | FOR GAE) % [ U0 21200 | 50100
uo7. 7 26.400 41.000
RIEFH Uo7 7! 21,200 23.200
Uo7 7 23.700 25.700
TR AR IE) WEE [ NUosi [ 7 9600 | 23300
[_NUOS5:. 7 10.600 23.300
[_NUOS 7 9.900 20.200
[_NUO61 7 11.000 .000
[_NU063 7 11.000 .200
U065 7 13.600 500
B (IRE) 5 [_NUO50 7 9.900 .600
[NUos2 |7 9,900 600
[_NU054 7 10.600 .100
[NUos8 |7 000 900
[NU060 |7 000 500
U062 7 .000 .400
R (PH)=Ed HE (CRHE) % uo21 7 22.400 .000
ek U022 7 22.400 .300
Kz (B878)=RiE 0 (BA7E) % U083 7 22,500 .000
=Pk U086 7 22.600 .600
BB (P AR BB & & 2 (B aD F_Nas | 7 20,200 700
U045 7 20.200 700
uo47 7 13.700 .200
U 7 20.300 .300
R GIE) % | NU 7 300 000
U 7 .800 .600
U 7 .600 .600
U 7 .600 | 18.600
ARE)-RE | AR R [ NUol | 7 600 200
[NU605 | 7 100 500
[NU607 |7 100 7.500
[NU60s | 7 1100 7.500
U617 7 .600 7.100
[NU62t | 7 500 200
U625 7 .300 .000
FE®E | NU600 | 7 400 600
[NU608 | 7 400 600
U610 7 .200 .200
U612 7 .200 .200
U614 7 .900 .900
[NU622 | 7 900 200
U626 7 .900 5.700
AR -ES | AR R | NUss | 7 400 | 7700
[NUss7 | 7 600 400
[NUSs9 | 7 600 400
[NUS63 | 7 900 700
[NUS65 | 7 900 700
[NUs67 | 7 900 500
U571 7 .900 .500
U573 7 .200 .800
EARE | NUss2 | 7 400 400
[NUSs56 | 7 800 200
[NUSs8 | 7 800 200
[NUS60 | 7 800 200
[NUs62 |7 700 400
[NUs6a | 7 400 200
[NUS66 | 7 400 200
U572 7 .400 .200

JTA



TS HBHEER(10A11~14BERD) JTA

SEEEAE : 2019/01/26 ~

10/11 10/12 10/13 10/14
4] B2 FHI | rS%E | YRS%E | YESRE | ILESEE
BARE [ gmm | mrm | @mE | =@
KR (B R R E) | KR () % | N0t |7 12000

=
S|
S|
5
N
oo
=
S|

PR (BRER) 5 [ NU002 11.200

RRCAE)=RIE | #m (FH) 5 |_NUOT 22,700

RiER uo7
1= () t#@m% | _NU0S

SR (AR %R) 5 | NU050

RERCPE)=EH W CRE) # uo21
m U022

oo [

KR (&) -R1E Tz (A7) % | NU0S3
GiE % U086

BEE (P E) =5

(R H) B H E (haEp) U043

SR (AR ER) ¢ | NU

FRNE-RE | A GhE) % | NUGO
U605
U607
U609
U617
u621
U625
EES% | _NU600
U608
U610
U612
U614
U622
U626

FRNG) =B | A8 (e & | NUSSI
U557
U559
U563
U565
U567
U571
U573

U556
U558
U560
U562
U564
U566
us72

1] S]] 1) 1) 1)) ) ) ) )] ) ) S]] ) ) ) ) S]] 1) 1S ) ) ) ] ) ) ) ) ) S]] S]] ) ) ) ] )] )] )] ] ) ] ) Y ) ) ) ) )




IS KRB HEER(10A18~22BERD) JTA

SEEEAE : 2019/01/26 ~

10/18 10/19 10/20 10/21 10/22
XF B2 ﬂ'ﬂi YIS | YRS ER [ IS KR [ IArSEER | YLLSES
L T mRE | mmE | ER@
KBR (B97E) =48 (ARER) | KBx (BAF) F [_NUOOT 7! 13.400 12.100 15.200 15.500
[_NU005 7! .300 .300 .300 .300
U009 7! 12.100 1 1 1
48 (3R % [_NU002 12,100 |12 12 1
[_NU004 900 s [ .
U008 .300
RACHE)-RE | R CHE) % |_NU07 200
uo7. 7! 200
RiEH Uo7 7! 200
Uo7 7! .700
1aME=3948 G E) Mm% [_NU0S 7 0.400
[_NUO5 7 11.600
[ NUO5 7 10.400
[ NUo6T | 7 .900
[ NU063 | 7! .900
U065 7! .900
i (38 % | NU0s0 | 7 900
[ NUo52 | 7! 900
[[NUos4 | 7 10.600
[(NU0s8 | 7 11.100
[_NU060 | 7 11.600
U062 7! 10.400
BR(PHE) =4 W CRE) uo21 7! 23.000
Eh 5 U022 7! 3.000
ENACTIE g (BA7a) % | NU0B3 | 7 400
GiE % U086 7! .800
2 E (P ER) =0 (8| B A 2 (P& A _NU043 | 7 700
U045 7! .700
uo47 7! .100
U 7! .000
R (BE) % [_NU 7 300
U 7! .800
U 7! .600
U 7! .600
AMAB)-EE | AHFEE % | _NU6e0l | 7 300
[ NU605 | 7' 800
[ NU607 | 7 800
[ NU609 | 7! 800
U617 7! .600
[ NU621 | 7 500
U625 7! .300
GIEH | _NUS00 | 7 300
[ NU608 | 7' 300
U610 7! .200
U612 7! .200
U614 7! .800
[ NU622 | 7' 800
U626 7! .600
ARBB =25 | AHRFEE R | _NUSI | 7 400
[ NUS57 | 7 .300
[ NU559 | 7 300
[ NU563 | 7' 600
[ NU565 | 7' 700
[ NU567 | 7 700
us71 7! 700
us73 7! .000
E&% | _NUS52 | 7 400
[ NU556 | 7' 700
[ NU558 | 7' 700
[ NU560 | 7' 700
[ NUS62 | 7' 600
[ NU564 | 7' 300
[ NU566 | 7' 300
us72 7! .300




T%EBE5 BERWA1~15BERD)

WA B 2019/01/26 ~
=m FETR e
" B8 prom - FHH7B
| |maum . g
PG -EE A RIE PrEL ] FTE800 BAME, | 5% %

. e L 8. A5HAT | 21 H.7.400

RGBS | R ma [zemm | TRET50 L £187.100

_ _ ) 28 HAT - 45E1 A KR H:7.400
AR T -5m | he (e % [ 28B %1 | BLh
_ % | RACBI6| 28HAT 45E A
R GIT) EAS |58 (M = RACS53| 2861 | 458 H
HEKBF | RACSSA| 28EET :ggg
i

RAC



T%BE5 EER(4A16~2581EFS)

WA B 2019/01/26 ~
=m FETR A
" B8 prom - FHH7B
| |mamm i g
PG -EE A RIE PrEL ] FTE800 BANE 3 %
- riag | RACT08] 28HT | = 45 AT _] [_72% |[#EH7400
RGBS | R ma 2EH TRET50 L £187.100
- . 2% | RACS04| 28HAI | § 4SEIBT XK H:7.400
ARG 58 | EaamE PEET i 408 H
_ % | RACBI6| 28HAT 45E A
R GIT) EAS |58 (M = RACS53| 2861 | 458 H
HEKBF | RACSSA| 28EET :ggg
i

RAC



T%BE5 BERGAT~1TEHERS)

WA B 2019/01/26 ~
5/7-17
R
il e FHITA — - T
AR i ]
SRR R®)=R1E | bl (e 5 2811 FE 08200 BABRL T - i

_ niEs 28 AT = 45 AT _] [72% |[#EH7400
RGBS | R ma [zemm | TRET50 L £187.100
) 28 A - 45E1 A KR H:7.400

FRAB) 5w | S = 28E AT ASEHL

- 5 | RACBI6| 28EIAT 45E 8

TR -BEAB | R (ME) | RACBS3 | 28EIAI | BLh

HEKBF | RACSSA| 28EET :ggg

i

RAC



[%BE5 EEXR(5A18~31 BIERS)

WA B 2019/01/26 ~
5/18-31
R
il e FHITA — - T
AR i ]
SRR R®)=R1E | bl (e 5 2811 FE 08200 AR - i

_ niEs 28 AT = 45 AT _] [72% |[#EH7400
FROPT-ES | (s %] RACE0 | 26EHT | TRET50 L £187.100
) 28 A - 45E1 A KR H:7.400

FRAB) 5w | S = 28E AT ASEHL

- 5 | RACBI6| 28EIAT 45E 8

TR -BEAB | R (ME) | RACBS3 | 28EIAI | BLh

HEKBF | RACSSA| 28EET :ggg

i

RAC



[%&RBEs5 1 EERGANBEBER)

SEEBMAA : 2019/01/26 ~
Py Py 3731
- SRRIMTA| k1§47 FEITA| AT
B -RE [ hEGE ® 8200 1400
HiE 900 100
i GRE) -EE i (AR 5 .200 000
=i 700 700

RAC



MEBEI5| 1 BER (4A26~29BEFSH)

SEEWAA . 2019/01/26 ~

P - /%6 4727 4% 4729

= B4 - = BITA] 878 | KBITA] EMI7B| KMIATA| 589178 | FMI{TA] 5@517B

@) -GE |l % | RACT05 | 26HH] =Eil 400 00| 10400 | 9700 | 10400 | 9700 400 400
515 RACT08| 28EII Bl 500 400 400 7.400 500 200 500 200

AP -E® | sh#l(IE) % | RACB01 | 28HHI B 500 100 500 9.100 200 800 500 100
= RACE04| 28EIRI B 800 500 700 | 7500 700 500 700 500

BB -5 |l (E % | RACBI5 | 28HHI B 550 400 550 400 550 400 550 400
= RACE16| 28EIHI B 550 400 | 9550 400 | 9,550 400 | 0550 400

R CRT)-BEAS | 7ok (AT %] RACB53 | 28 A1 B | 15700 | 15500 | 15700 | 15500 | 15700 | 15500 | 15700 | 15500
HE=AB% | RACBS4| 28R B | 15700 | 15500 | 15700 | 15500 | 15700 | 15500 | 15700 | 15500




EEWAR ;. 2019/01/26 ~
Py 7730

= B4 il = INE T YT
HREB-EE S0 (A48 % | RACSO1 | 9200 800
=i RAC804 | 700 500
BB =5 s (AR 5 | RACB15 550 400
B RACB16 | 550 400

B (BE)=EEAE [ b (GRE) %[ RACS53 | 15.700 15.500
FEEKXBF | RACES | 15.700 15.500

[%BEI5| EEXR(AANBERES)

RAC



FEREI5I EERGA1~4BEED)

EEBAA ;. 2019/01/26 ~

PR PR 571 572 573 577

= % i i FMITA] KAHIATB | KT A| 5478 | MIMTA] FIM7B | MIMTA] K7 B

R B4 R B4 R B4 EEEE B

(B -GIE | (B % | RACT0S S8 | 9400 5400 700 7700 500 500 10400 | 9700
Fia% | RACIO8 il 700 7.700 400 8.400 500 900 400 400

R GIE)-BA | ol % | RACBO01 | 28HAT B 500 100 200 7.800 500 100 500 100
BT ACB04| 28 EIET il 700 500 700 7.500 700 500 700 500

R GIE)-518 | ol (W0 % | RACBI5 | 28HA il 550 400 550 400 550 400 550 400
EEY) ACB16| 28 EIET il 550 400 | 9550 400 | 9550 400 | 9550 400

TR (BT EE AR | HAk(3LE) % | RACB53 | 28H AT B | 15700 | 15500 | 15700 | 15500 | 15700 | 15500 | 15700 | 15500
HEAB% | RACSS4| 28HEI B | 15700 | 15500 | 15700 | 15500 | 15700 | 15500 | 15700 | 15500




rER/EI5 EER (GAS~6BEED)

SEEBMAA : 2019/01/26 ~

SBHTA| %8378 A 576
= B4 - - BITA| 878 | KBITA] E@I7B
8 EEE SEBREE EEE SEBREE
P (FRE) =53 | osB (L) % | RACSI [ 45880 9550 400 9.550 400
E®% AC8 1 Al 9.550 400 9.550 400
PERE) -EEKRE | 048 (IBE) 5| RACS5 Al 15.700 15.500 15.700 15.500
FEEKXBF | RACES | Eil 15.700 15.500 15.700 15.500




T%EBE5 BER(6A1~14BERD)

WA B 2019/01/26 ~
6/1-14
R
il e FHITA — - T
AR i ]
SRR R®)=R1E | bl (e 5 2811 FE 08200 BABRL T - i

_ niEs 28 AT = 45 AT _] [72% |[#EH7400
RGBS | R ma [zemm | TRET50 L £187.100
) 28 A - 45E1 A KR H:7.400

FRAB) 5w | S = 28E AT ASEHL

- 5 | RACBI6| 28EIAT 45E 8

TR -BEAB | R (ME) | RACBS3 | 28EIAI | BLh

HEKBF | RACSSA| 28EET :ggg

i

RAC



T%BE5 EER(6A15~21 BIERS)

WA B 2019/01/26 ~
6/15-21
R
il e FHITA — - T
AR i ]
SRR R®)=R1E | bl (e 5 2811 FE 08200 AR - i

_ niEs 28 AT = 45 AT _] [72% |[#EH7400
FROPT-ES | (s %] RACE0 | 26EHT | TRET50 L £187.100
) 28 A - 45E1 A KR H:7.400

FRAB) 5w | S = 28E AT ASEHL

- 5 | RACBI6| 28EIAT 45E 8

TR -BEAB | R (ME) | RACBS3 | 28EIAI | BLh

HEKBF | RACSSA| 28EET :ggg

i

RAC



[%1BE5 SEER (6A22~3081E%S)

WEHAE 2019/01/26 ~
6/22-30
FRITA R
B 8% =g s T wE
BANIR _ " BANR "
R RT)-RE | e (RE) % 28 HL AL 200, £ H:8400 45EAT | > £ 57400
Fiag || 28 HLAIL 100 H:8.400 45871 | > +:7.100. H:7.400
PR -BE | b (e | | 28 HLAIL H.7.900 45 AL H:7.400
mds || 28 HLAIL 8.200 45H AL 00, F1.7.600
AR B -5m | he (e 5| | 28 A1 A 45 B AT
5 || 28 HLAIL 45 AL
RS -BERE b (E) | | 28H AT 45H Al
TEAEH 28 E Al 45 B il

RAC



48 ey
MEBEE EER(TAI~11BEES)
WEHAE 2019/01/26 ~
77711
F/ITA %£#85478
=] B8 - 5 o
AR il BASIE |~ il
i (BE) =R1E [ i (R EE) | RACTO! 28H A + H:8.800 A5H A %1 H:7.600
Fia% | RACT08| 28HAI | 8500 69% | &+ H:8.800 4581 | %7800, £ H:7.600
() -Ea | A8 (JhEs) 5| RACBO1| 28HAL 100 56% | KA H:8.800 45871 | KA H:7.900
2% | RACS04| 28HAI | 9.100 56% | A 8,900, A7K:8.800 45881 |
PR (IER)=5im | ha8(IER) %= | RACBI5| 28HIAI | 0560 48% 45 AL 3
5 | RACBI6| 28HAI | 9550 a8% 45 AL 3
P (HVER)-BEABS |0 (AN¥%) 3| RACB53| 28HAI 700 | 43% 45 AL 3
TEXBR 4| 28T 700 | 43% 45H | 15500 | 43%

RAC



rEiss

15| SEER (TH16~24B1E%H)

WA B 2019/01/26 ~
7/16-24
= B FRITA FWH7B
8 T ; E—7H
S | [mamm| ZHE | wsis w wx
FROT-RE | e (A 5| RA 2B | 8900 | 67% [2LH9000
Fiag 28EH | 8700 | 684 |[@EH9000 E Pt
FRBT-EE | LS %] RA B8 | 9400 | 55% [KAHS.100 KA H:8:300
axe | 28 AT 100 | 56% | %+ H.0.400 -
HRCIEN =518 | A8 ) 5 | 28 B8 | 12450 | 27
288 | 12450
5T 288 | 12450
288 | 12.450
W -REXRE 28EHI_|_20.100
28181 | 20.100

RAC



rEiss

15| SEE R (TH25~31BIEES)

WA B 2019/01/26 ~
7/25-31
=) FHITA
g :23 _ﬁ AT 5 1 = - FHH7B
| AR = §
FRI-EE | M (I % RACTOS | 28EIAI | A= u BEAMIR %
- — Fia s 28 A1 45 A1 H.8.000
EIIC - T TE T A3 28EAT | 9400 | 55% [kAE9.100 doB1A 1 H:.000
. S N 28 AT 100 | 56% | %+ H.0.400 ASERL
PRI =51 | A R 3¢ || 28 B A1 450 |27 - ASEIEI |
— 28 E Al 450 A5 E A
EET N 28 A Al 450 :ggg
1 28 A :
ABREAR S 100 L
28E A 100 ASEHL
A5 E B

RAC



48 oy

N==PE
Me/EI5 1 EER (BA2~8AEES)
WEHAE 2019/01/26 ~
8/78
F/ITA %£#85478
Em = B mma |00 e %
AR | * EEES l il
R RT)-RE | e (RE) % 28 HL AL 700 64% £:9.600. H:10000 8900
Fiag || 28HA | 9700 64% | 9,600, £ F H:10000 8,600
HRBT-EE e nE | | 28HA | 9800 53% H.9.500 H:8900
EX E 28 HLAIL 400 55% :9.100 000, 7K7:8.300

PR OBER) =5 PR OGRER) | 281 Al .350 22% b
28 HLAIL 350 | 22% 45 AL 200 | 23%
E@mx | 28 HLAIL 350 | 22% 45 AL 200 | 23%
28 HLAIL 350 | 22% 45 AL 200 | 23%
(W) -BEKRS 28 B Ail 900 20% 45H Al 600 21%
28 H AL 1900 | 20% 45 AL 600 | 21%

RAC



[%BE5 lEEXR(BA19~250EFS)

WA B 2019/01/26 ~
577575
=40) £ FRHMTA
@ &gi‘;ﬁﬁ pron 7 %£#85478
| B i
HRGE)-EE | SE e 26 A - BAAAR | %
- It 28 AT ; 4SELA_| 8100
EXCEE-E A T IE T e 28638 i Eens doBA 1 H1.800
< - N 28 EI Al 8,800, Ik 4SELA_| KA H S
FRT-SA | R B0 [RACa1s |20yl | L e G5ER ] -
28 E Bl A5 E A
T 28 AT 4532
| S8R L
B BEXE SRETHT A5EA
28 E Bl A5 E A
A5 E B

RAC



[%1525 SEEXR (8A26~31 BIERS)

WA B 2019/01/26 ~
8/26-31
F/ITA %£#85478
B RS
i Bl i s ¢ s
AR l BAMIE |~ "
TR GIRER)-RE | b (ME) 3 28 E1 B 58,600, £:8.400 456 A [£:7.800. £:7.500
piEs || L 800, £:8.100 456 A [%:7.500. £:7.200
R (BE)=2E [ehid (nER) S| F 80 28 BBl :9.200 45 B il [ 7k A:8.800

k. [ f 4 | 28 B A :9.200. £:8.100. +:7.900 45 B il [£:7.000. 1:6.900
ARAB-5m | PRI R 28 1Bl 45 BBl
28 B Ail 45 B il
EF IR 28 A Al 45 Al
28 B Ail 45 B il
(BB -BERE 28 1Bl 45E1 A1
28 B Ail 45 B il

RAC



MEB8E5| 1 BER(TA12~15BEESH)

SEEMAR - 2019/01/26
7712 7/13 7714 7/15

=40 FBIMTA| %8378 | KBHMIA| £BM7IB| £BHMIA| £BIMIB| £BMIA| £1B84178B

IR B) =R1E SR CRER) % | R [ 9.200 .000 9500 1500 700

HiE R 300 800 7 800 300

HREH)-EE b (GRER) 3| R 400 600 o 600 600

=i R 400 | 8.000 [ [__8.000 [_8.600

ARMB=5m | HRGEE[R 12.450 12.300 800 800
EETI 12.450 12300
REE)-EERS @ (BB [ R 20.100 19.800
HEEXBE | R 20.100 19.800




EEWAR ;. 2019/01/26 ~
p Py /1

A B - —
- s FRIMTA| £BIM7 FRTA| K@ITE

i CGRE) -EE i (ARER) ¢ | RAC801 | 28HE 9.100 300
ErE RAC804 | 28H AL il 400 8.300

R (RE) =55 i (FRER) 3 | RAC 28 H Al il 450 300
RAC 28E A il 450 300

E®% RAC 28E A il 450 300

RAC818| 28HAL il 450 300

B (BER)-EEKS | b4 (GBE) | RAC853 | 28HAEI Bl 20.100 .800
FEXBF | RACBSA| 28HAN il 20.100 800

rEJE5 EERCAI1BERS)

RAC



MEB8E5| 1 BER(BAI~12BEESY)

SEEWAA . 2019/01/26 ~

s@u7A| REB8TB 8/9 8/10 8/11 8/12
&R &% ; ;ﬁ %BITA| @IIB| KAITA| H@IMIB | KMITA| K@HIB| KBITA] E@HIB
/\ggm | e | BRE | ERE | ERE | ERE | ERE | SRH | ERG
IR B) =R1E 4R (ILER) % | RACT05 | 28HAT Al 10500 | 7800 10900 | 9500 10900 | 9:500 10.100
HiF RAC708 | 28EAIl i 9800 | 7.500 9800 | 7.500 9800 | 7.500 10.100
B A 4R (IRER) % | RACSO1 | 28HAN il 10300 | 9.500 10300 | 9.500 10000 | 9.200 10.300
=i RAC804 | 28B Al il 8.800 7.700 | 8.800 7.700 | 8.800 7.700 9.200
R BB =5 8 (ARER) 5 | RAC 28 H A Al .350 .200 .350 .200 .350 .200 .350
RAC 28 Bl Al .350 .200 .350 .200 .350 200 .350
5% RAC 28 H A Al .350 .200 .350 .200 .350 200 .350
RAC818 | 28H A Al .350 .200 .350 .200 .350 .200 .350
PHE (R -BEKRS | b4 G0EA) 3¢ | RAC853 | 28HAI i .900 1600 .900 1600 ,900 600 ,900
wxxex | RACBS4[ 28BN il .900 .600 .900 .600 .900 .600 .900




MEB8E5 1 BEER(BA13~16BEESH)

EEHAA 2019/01/26 ~
- — 3713 /12 /75 8716

- 5 *:‘”A *‘:;;75 EBHTA] £EI17D | REITA| KEIIE| RBITA] KEI(70 | RBITA| KEITE
FARAEIEAEOOEOE O E T

RGP -BE | ML) % RACT0s | 28E1A1 =i 600 | 7.600 700|770 700 700 800 700
B RACT08| 28H AT # | 10100 | 8500 10100 | 8500 10300 | 8700 10,300 | 8700

BB == Sh4E (FRER) % | RAC8O1 PEEED Al .800 .200 .500 .900 .500 .900 .800 .200
= RAC804| 28HIAT B 000 | 8600 | 9000 | 8:800 | 9.800 100 | 9800 100

B =5 h4E (ARER) | _RAC 28 H A Al .350 .200 .350 .200 .350 .200 .350 .200
RAC 28 H Al Al .350 .200 .350 .200 .350 .200 .350 .200

513 RAC 28 H A Al .350 .200 .350 .200 .350 .200 .350 .200

RAC818 | 28H A Al .350 .200 .350 .200 .350 .200 .350 .200

TR IV B A | 0l (FLEL) % | RACB53 | 28 HAT i 900 600 900 600 900 600 2900 600
#EAEH | RACSS4[ 28HHEN Al .900 .600 .900 .600 900 .600 900 .600

RAC



MEB8E5| 1 BER(BA1T~18BEES)

SEEWAA . 2019/01/26 ~

5@547A| %185178 817 8/18

4] 4 %18547A | %1§517B | £BIMTA| £1§5478B
AP =R | b (LB % | RACTO5 800 700 800 700
5iE RACT708 10300 | 8,700 10300 | 8,700

G =B e | bl (HbE) 3 | RACEOI 800 200 500 900
= RAC804 | 28EI B il 800 100 | 9,800 100

G =5 | 8 GIbER) % | RAC 28E A1 il 350 200 350 200
RAC 28 B il 350 200 350 200

E#% |RAC 28E A1 il 350 200 350 200

RAC818 | 28E Bl il 350 200 350 200

ML (BT =EE AR | shal GREL) 5| RACB53 | 28 HIAT il 900 600 900 600
FEAME | RACSS4| 28E1AI i 900 600 1900 600




T%EBE5 BER(9A2~12BERS)

WEHAE 2019/01/26 ~

9/2-12
=m B4 FEHTA FEIB

| |maue il o | ERE | o

() =R 1E iﬂ!ﬂ_{:ﬁl&i»&*_ gggg gigg.w‘:gg 45E &1 | 7.100 72% | % T B.7.400

R IE)-E S | (%) % | RACBOI | 28I KA 7,900 i §§33333
HE || 28 A Al 65%
HRBE =5 | HMEE) 5[ RACSI5| 28H I | 1%
— 7] 28HAT A5 400 41%
s 45E Al 400 41%
——— 45E Al 400 41%
BB -BXKE 45 E AL 500 41%
45 Al .500 41%




T%BE5 EEXR(OA1T~30BERS)

WA B 2019/01/26 ~
9/17-19,9/24-30
] L T A A7
| [mimm i e il

T GRER) -R B 5&5122»&* [ RAC gggg gig g.w‘tgg 4552__ 100 72% | % T H:7.400

_ _ [2sEEl | 8 2581 | 6900 | 73% [+ H:7.200

EIC R Shis rﬁi»&* | RAC gggﬂ kA H:7.900 45E|§:1_ 700 61% |/KAH:7.400
_ _ I | 28E081 | 25 8T 900 | 65%
ARG -5R | MGRm) %[ RACSIS| 28T | 4E [ oa00 |41
_ 7| 28EL 2581 400 | 41%
Sl 45E Al 400 41%
——— 45E Al 400 41%
BB -BXKE EEE 500 | 41%
2581 500 | at%

RAC



rEiss

15| SEER (1081 ~10BEED)

WA B 2019/01/26 ~
10/1-10
=m @ FRITA FWIH7B
BAME i e il

SR F)=RE shis (FER) % | RACT05 | 28H AT %+ H:8400 45 E A 100 72% |&+H:7.400

miase | RACT08| 28HAL £+ H8100 A | 6. 73% |4+ H:7.200

R -B& | sl (W) % | RACBOT | 28 EIAT | KK B:7.900 61% A H:7.400
7% | RACBO4| 28I 65%
R IT)-5 | ohe8 (e 5| RACBI5| 28I 1%
% | RACBI6| 28HAI 2581 400 | 41%
PR GBE)-EXARS [ b8 (N®) %] RACSS3 | 28HIAT A5EA .500 A1%
FEXER 4 o8EEN 2581 500 | at%

RAC



T%BEI5| NBER(10815~26 B FEH)

WEHAE 2019/01/26 ~

o T T0/15-17.10/23-26
&
B4 7 %8578
A i = R Erm | BEW
GBI =RE s GIE 5] | 28EAT | FE8400 SAMR | FIELES
A L e 22410 A5E BT | 100 72% € +7.400
DR -E S | Rk (nEs) % | ETELE KA7.900 45HRET | 6900 73% | & 1:7.200
She os ] . 45E BT _| 700 61% [/KA:7.400
SR(BF)=5m  [hE(RE 2 28 BV AT 0B | 6900 o
_ 5 | RACBI6| 28HAL oen o i
P (HVER)-BEABS |0 (AN¥%) 3| RACB53| 28HAI oo i i
L e 2 Lonn 45 B 500 | a1%
| RACS54 | 45 BT 500 | a1%




rERJE5 EEROA1BERS)

SEEWAA . 2019/01/26 ~

Py Py 971
= g | TR REMOE Al 25D
A B B
(B -G1E | ek (RE % | RACT05| 28 8.400 7.400
i5 RAC708] 28 8100 7.200
@ (RE)-ma | R (0 3| RACBO1 | 28HAL i 7.900 7.400
s RAC804 | 28EAI il 900 900 _|
BB =53 i (BBER) 3¢ [ RAC 28 H Al Bl 550 .400
RAC 28 E1 Al Eid 550 400
E#% |RAC FEEL Eid 550 400
RAC818 | 28EHAL Eid 550 400
R NE -BEAE | h (8 % | RAC853 | 28EEI Eid 15.700 15.500
EEKBF | RACSSA| 28HAI il 15.700 15.500




MEB8E5 1 BER(9A13~16BEES)

SEEWAA . 2019/01/26 ~

Py R 9/13 9/14 9715 9716

4] 4 ; -‘:ﬁ %1§547A | %1§917B | KBIMTA| £1§57B| £BITA| £BIIB| %GHIA| £84I8B

/\%EBE | miogm | BRE | ERE | EE@ | ER@ | SR | EAH et et

A GIPER) =R | e GHbEL) % | RACTO5 | 28 HAT = B 400 7.400 700 400 700 700 100 7.100
5iE RACT08 | 2818 il 300 7.200 400 200 400 200 400 7.400

M) == | el (HLEL) % | RACBO1 | 28 HIAT il 200 7.700 000 600 700 300 200 7.700
i RAC804 | 28H A il 000 500 200 400 | 8,200 400 | 8,000 7.700

G =5 | 8 GIbER) % | RAC 28E A1 il 550 400 950 800 950 800 950 800
RAC 28 B il 550 400 .950 800 .950 800 950 800

E#% |RAC 28E A1 il 550 400 950 800 950 800 950 800

RAC818 | 28E Bl il 550 400 950 800 950 800 950 800

L GIVIR) B A B | il (AL % | RACB53 | 28 A B_| 15700 15,500 650 400 650 400 650 400
ZEEXB% | RACSS| 28HAI A1 | 15700 15.500 650 400 650 400 650 400




MEB8E5| 1 BER (9A20~23BEFESH)

SEEWAA . 2019/01/26 ~

s@u7A| REB8TB 9/20 9/21 9/22 9/23
&R &% ; ;ﬁ %BIMTA| BIIB| KMITA| H@IMIB | KBITA| H@HIB| KBITA] E@HIB
/\ggm | e | BRE | ERE | ERE | ERE | SRE | SRE | ERA | SRS
RAE) -EE s (ARER) % | RACT705 | 28 HEI = A .400 7.400 .400 .200 .700 .700 .100 7.100
HiF RAC708 | 28EAIl i .300 7.200 .300 .200 .300 .200 .300 6.900
PREB) -EG sh#R (FRER) 5 | RAC8O1 PR il .200 7.700 .000 .600 .700 .300 .200 7.700
s RAC804 | 28EAI Eid .000 900 000 | 7500 | 8000 | 7500 | 8.000 7.100
R BB =5 8 (ARER) 5 | RAC 28 H A Al .550 .400 .950 .800 .950 .800 .950 .800
RAC 28 H Al Al .550 .400 .950 .800 .950 .800 .950 .800
5% RAC 28 H A Al .550 .400 .950 .800 .950 .800 .950 .800
RAC818 | 28H A Al .550 .400 .950 .800 .950 .800 .950 .800
MR () -BEAS | b4l (30E) 5 | RACS53 | 28 AL i 15.700 15,500 650 400 650 400 650 400
wxxex | RACBS4[ 28BN il 15.700 15.500 .650 .400 .650 .400 .650 .400




TEBEE EER(10B11~1481FES)

SEEWAA . 2019/01/26 ~

Py R 10711 10/12 10713 10714

4] 4 ; -‘:ﬁ %1§547A | %1§917B | KBIMTA| £1§57B| £BITA| £BIIB| %GHIA| £84I8B

/\%EBE | miogm | BRE | ERE | EE@ | ER@ | SR | EAH et et

A GIPER) =R | e GHbEL) % | RACTO5 | 28 HAT = B 400 7.400 700 400 700 700 100 7.100
5iE RACT08 | 2818 il 300 6.800 400 800 400 800 400 7.400

M) == | el (HLEL) % | RACBO1 | 28 HIAT il 200 7.700 000 600 700 300 200 7.700
i RAC804 | 28H A il 000 7.400 200 400 | 8,200 400 | 8,000 7.700

M) =5 | e (ILE) % | RACBI5 | 28 HIAT il 550 400 950 800 950 800 950 800
= RAC816 | 28EBl il 550 400 950 800 950 800 950 800

R GIVIR) B A B | il (BB % | RACB53 | 28 A B_| 15700 15,500 650 400 650 400 650 400
ZEEXB% | RACSS4| 28HAI A1 | 15700 15.500 650 400 650 400 650 400




M%5E5 EEXR(10818~21 BB ES)

SEEMAR - 2019/01/26

70/20 T0/21
=40 KBIMTA| £BM7B| KBHMIA| £BIIB| £BMIA| %8478 | £B/HMIA| £BHMIB
SRR =RE V%[ R 400 7.400 400 7.400 8.400 7.400 100 7.100
R 100 7.200 100 7.200 8100 7.200 900 6.900
HREH)-EE V%[ R .200 7.700 .200 7.700 7.900 7.400 200 7.700
R 900 900 900 900 7.900 900 900 900
SRR =58 V%[ R 550 400 550 400 550 400 550 400
R 550 400 550 400 550 400 550 400
ErE e =33 )%[ R 5.700 5,500 5.700 5,500 15.700 15.500 5.700 15.500
% R 5.700 5.500 5.700 5.500 15.700 15.500 5.700 15.500




rEBE5I EER(10A22BEFS)

EEWAR ;. 2019/01/26 ~
. Py T0/22
TA 7B — —
R g | TR REMOE A 25D
A B B
JPHE(FRER)-Gim | R#B(0EA) % | RACT05| 28 8100 7.100
HiE RACT08 | 28EHAI kil 900 6.900
(BB == s (ARER) % | RAC8O01 | 28H Al Bl .200 7.700
=i RAC804 | 28H AL Eid 900 900
BB =53 i (ARER) ¢ | RAC815 | 28EAI Bl 550 .400
Y RAC816 | 28EAL Eid 550 400
SR (RE)-BEAS | il (IE) 5| RACB53 | 28HfAI Eid 15.700 15.500
FEXBF | RACBSA| 28HAN il 15.700 15.500

RAC



[R—N—%FGIHEEXRAAI~158BED)

EREME . 2019/01/26 ~
4/1-15
3 e |7 - ESTA 5

WANR | [ EEH e
R (FRER) =R1E shi® (FRER) 2 | RACT705 | S5HAN .500 75% |&+ H:6.700
A% RAC708 | 55 Al .000 77% |#£+ H:6.300
BB == shi® (FRER) % | RACBO1 | S5HAT .200 63% [ KA H:6.900

EhE RAC804 | 55 Al .200 68%

RAC



TR—N\—%FGIHEER(AA16~25BEFEN)

EREME . 2019/01/26 ~
4/16-25
3 e |7 - ESTA 5

WANR | [ EEH e
R (FRER) =R1E shi® (FRER) 2 | RACT705 | S5HAN .500 75% |&+ H:6.700
A% RAC708 | 55 Al .000 77% |#£+ H:6.300
BB == shi® (FRER) % | RACBO1 | S5HAT .200 63% [ KA H:6.900

EhE RAC804 | 55 Al .200 68%

RAC



[R—I—%BEERGAT~1TAEED)

EE®MAA - 2019/01/26 ~
5/1-17
3 e |7 - ESTA 5
BABR | any | E20 i
B (BB =RE ShiE (IRE) % | RAC705 | S55HHI .500 75% |+ H:6.700
HiEH RAC708 | 55 Al .000 77% [X:6.100, £+ H:6.300
HRAH)-Eh ShiE (IRE) %= | RAC801 | 55HAI 200 63% | kAR H:6.900
R RAC804 | 55 Al .200 68%

RAC



TR—N\—%FGIEERGAI1B~IIBEEN)

EREME . 2019/01/26 ~
5/18-31
3 e |7 - ESTA 5

WANR | [ EEH e
R (FRER) =R1E shi® (FRER) 2 | RACT705 | S5HAN .500 75% |&+ H:6.700
A% RAC708 | 55 Al .000 77% |#£+ H:6.300
BB == shi® (FRER) % | RACBO1 | S5HAT .200 63% [ KA H:6.900

EhE RAC804 | 55 Al .200 68%

RAC



EEEMAE - 2019/01/26 ~

3/31
FH A—ri—5:t

XA B2 AL an

"

PR (BB =R SR (FREE) %% | RAC705| 55 A1 700
HiES RAC708 | 55H Al 300

PR GRE)=E S S4B (ARER) % | RACBO1 | 55H A 400
EET ] RAC804 | 55H Al .200

[R——5%1GF1EEXRBAINBERES)

RAC



o 4B A
R—R—RFIEER (4A26~30BHEFS)
EEEMAE - 2019/01/26 ~

4/26 4/27 4/28 4/29 4/30
FH 2—ri—## | 2—r—x8 | 2—i—x8 | 2—i—x8 | 2—i—x8

a B2 | @AWR [ apw | am | enm | snm | 2n

B RS RS RS B

B (IR =R 18 SR (FREE) %% | RAC705| 55 A1 6.900 400 400 7.900 7.900
HiES RAC708 | 55H Al 6.200 .900 000 9,000 7.200

PR GRE)=E S S4B (ARER) % | RACBO1 | 55H A 7.500 700 400 8.700 8.400
T RAC804 | 55H Al 6.300 300 300 7.300 7.300

RAC



R—I—% B IEERGAI~4BEES)

SEEEAE : 2019/01/26 ~

5/1 5/2 5/3 5/4
FH A—ri—g | 2—ri—s#h | z—i—nB | 28

e B2 WA e T mpm | mnm | e

& B B B

RAE) -EE Sh4E (IRER) 3 | RACT05 55H I 900 7.200 300 9.400
A% RAC708 55H I 200 7.900 400 7.900

PREEB) -EE Sh#E (FRER) % | RAC801 55 B Al 700 7.200 700 8.700
EhE RAC804 55 B Al 300 7.300 300 7.300




[R——%BEERGA1~14REBED)

EREME . 2019/01/26 ~
6/1-14
3 e |7 - ESTA 5

WANR | [ EEH e
R (FRER) =R1E shi® (FRER) 2 | RACT705 | S5HAN .500 75% |&+ H:6.700
A% RAC708 | 55 Al .000 77% |#£+ H:6.300
BB == shi® (FRER) % | RACBO1 | S5HAT .200 63% [ KA H:6.900

EhE RAC804 | 55 Al .200 68%

RAC



TR—N—%FGIHEEROGAI1S~21BEED)

EREME . 2019/01/26 ~
6/15-21
3 e |7 - ESTA 5

WANR | [ EEH e
R (FRER) =R1E shi® (FRER) 2 | RACT705 | S5HAN .500 75% |&+ H:6.700
A% RAC708 | 55 Al .000 77% |#£+ H:6.300
BB == shi® (FRER) % | RACBO1 | S5HAT .200 63% [ KA H:6.900

EhE RAC804 | 55 Al .200 68%

RAC



TR—N\—%FGIEEXR(6A22~308EFEN)

SEEEAE : 2019/01/26 ~
6/22-30

Z—IN—5%15

=R B |78 _
AR gy | BEHE [

B (BB =RE ShiR (ARFR) $ | RACTO05 | 55 . [&:6 6.
Pk RAC708 | 55 Al .000 £:6.300, £:6.500. H:6.800

HiER
M GIE)-Ba | h# (GRE) 5 | RACBO1 | S5EAI 200 [k B:6.900
ErE) RAC804 | 55EIAT | 6200 | 68% |F:7.000. H:7.200




EEEAE

2019/01/26 ~

[R—N—%FIEEXRTAI~11BERESD)

711
=P Ee | JFH A—r—%f
HARIR e
P (RE) =R 1B 5% (F04A) % | RAC705 | b5H AL £ £ H:7.200
Gia% RAC708 | 55 BRI £:7.300. £ H:7.200
S GRE) -EE Sl (FRER) % | RAC8O01 | 55 A1 KA H:7.500
Eh RACB04 | 55 BAL

RAC



TR—N—%FGIHEER(TA16~24BEFEN)

EEEMA - 2019/01/26 ~
7/16-24
= ws | 0 %R
R (FRER) =R1E shi® (FRER) 2 | RACT705 | S5HAN .200 7. £+ H:7.500
A% RAC708 | 55 Al 100 74% |#£+ H:7.400
PREEB) -EE shi® (FRER) % | RACBO1 | S5HAT .200 61% [/KAH:7.900
EEE RAC804 | 55 Al .300 65%

RAC



TR—N\—%FGIHEER(TA2~31BEEN)

EEEMA - 2019/01/26 ~
7/25-31
= ws | 0 %R
R (FRER) =R1E shi® (FRER) 2 | RACT705 | S5HAN .200 % £ B:7.500
A% RAC708 | 55 Al 100 74% |7K:7.200, £+ H:7.400
BB == shi® (ARER) % [ RAC801| 55H Al .200 K
EhE RAC804 | 55 Al .300 500, 7K:7.800




EEEAE

2019/01/26 ~

[R——5%1G1IEER(BA2~8HEES)

8/2-8
=P Ee | JFH A%
HARIR e
B (IR =R 18 S (FRER) % | RAC705 | 55E A1
Gia% RAC708 | 55 BRI
S GRE) -EE Sl (FRER) % | RAC8O01 | 55 A1 8.300
EhE RACB04 | 55 BAL 500, 7KA:7.800

RAC



TR—N\—%FGIHEER(BA19~25BEFEN)

EE®MAA - 2019/01/26 ~
8/19-25
- @ | T8 T
BABR | ang [5 78 [

B -RE ShiE (IREE) RAC705 | 55 Al .900 71% [ H:7.500, £+ H:8.100

HiEE RAC708 | 55 Al 700 72% | H:7.200. £+ H:7.800
HRAH)-Eh ShiR (ARER) % RAC801 55 H &l .500 59% |7k K H:8.200

R RAC804 | 55 B Al .500 64%

RAC



EEEAE

2019/01/26 ~

TR—N\—%GIEEXR(BA26~31BEFEN)

4 8/26-31
# Z—13—
XA B2 AL Eaid
&

B (IR =R 18 S (FRER) % | RAC705 | 55E A1

Gia% RAC708 | 55 BRI
PREEB) -EE shi® (ARER) % [ RAC801| 55H Al

Eh RACB04 | 55 BAL

RAC



[R—N—%FGIHEER(TA12~15BEFED)

EEEMAE - 2019/01/26 ~

7/12 7/13 7/14 7/15
FH A——%# | 2—r—5B | 2—i—%8 | 2——%8

e B8 | AR [ T are | are | ar
ERE B B B

RAE) -EE SR (FRER) % | RACT05 55 B Al 500 8.800 7.900 7.200
A% RAC708 55 B All .500 7.500 7.500 8.100

BB == Sh#E (FRER) % | RAC801 55 B Al .200 9.100 8.800 8.200
EhE RAC804 55 B Al .800 7.800 7.800 8.400




EEEME : 2019/01/26 ~
8/1
=R [ 730 - R
BAMR [ e
HEAB)-Eh shiR (ARER) % [ RAC801 55 H Al 7.900
EEHE RAC804 55 H &l 7.800

R—N—%FIEERBAIBEESD)

RAC



[R——5%1B 1 EER(BAI~16AEES)

EEEMA . 2019/01/26 ~
8/9 8/10 8/11 8/12 8/13 8/14 8/15 8/16

ZFa Ea **’\] R—i—5%8 A——5%1§ A——5%§ A——5%§ A——5%§ A——5%§ A——5%§ A= =518

BAMR [ gmm | mRE | @mE | SRE | @A@ | SRE | @f@ | GRS

B -RE ShiE (IREE) XAC705 55 H Al 600 300 300 400 400 500 7.500 7.500
HiEE XAC708 55 H Al .300 300 300 .500 300 .300 8.400 8.400

HRAH)-Eh ShiR (ARER) % RAC801 55 H &l .300 300 000 .300 600 .300 8.300 8.600
R XAC804 55 H Al 500 500 500 .800 600 .600 7.900 7.900




EEEMAE - 2019/01/26 ~

8/17 8/18
F9 A= | A5

i B8 | AR [ T a
B RS

PR (BB =R SR (HLEE) % | RAC705 | 55H A1 500 7.500
Gia% RACT08 | 55 AL 400 8.400

PR GRE)=E S S%H (FRER) 3 | RACBO1 | 55H AL 600 8.300
Eh RACB04 | 55 HAL 900 7.900

[R—N\—%FGIHEEXRBA1T~18BEFEN)

RAC



[R——5%BEER(OA2~12BEBFED)

BERBME . 2019/01/26 ~
9/2-12
P4 Z—\—%15
i B2 | gasm [ T

BB | = %
B -RE h#R (AREE) % | RACT705 [ 55HAL .500 75% | &+ H:6.800
HiEE RAC708 | 55 Al .200 76% |+ H:6.500
HRAH)-Eh ShiR (ARER) % [ RAC801 55 B Al .200 63% | kA H:6.900

R RAC804 | 55 B Al .400 67%

RAC



[R—N—%FGIHEEROA1T~0BEEN)

EE®MAA - 2019/01/26 ~
9/17-19,9/24-30
P4 Z—\—%15
= B2 | gasm [ T
R | LrY e

B -RE ShiE (IREE) RAC705 | 55 Al .500 75% | &+ H:6.800

HiEE RAC708 | 55 Al .400 75% | H:6.200, £+ H:6.500
HRAH)-Eh SR (ARER) RAC801 55 H &l .200 63% | kA H:6.900

R RAC804 | 55 B Al .400 67%

RAC



TR—N—%FGIEEXR0A1~10BEEN)

EE®MAA - 2019/01/26 ~
10/1-10
30 %R
= B2 | gasm [ T
Eag | 200 [

B -RE ShiE (IREE) RAC705 | 55 Al .500 75% |&+ H:6.800

HiEE RAC708 | 55 Al .200 76% | 7K:6.400, & + H:6.500
HRAH)-Eh SR (ARER) RAC801 55 H &l .200 63% | kA H:6.900

R RAC804 | 55 B Al .400 67%

RAC



[R—/IR—%BHEEXR(10A15~26BEES)

EEEMA . 2019/01/26 ~
10/15-17,10/23-26
P4 Z—\—%15
= L g .

EAR | s %
B -RE h#R (AREE) % | RACT705 [ 55HAL .500 75% | & 1:6.800
HiEE RAC708 | 55 Al .200 76% |&. 00
HRAH)-Eh ShiR (ARER) % [ RAC801 55 H &l .200 63% | 7KA:6.900

R RAC804 | 55 B Al .400 67%

RAC



EEEMAE - 2019/01/26 ~

9/1
FH A—ri—5:t

XA B2 AL an

"

PR (BB =R SR (FREE) %% | RAC705| 55 A1 800
HiES RAC708 | 55H Al 500

PR GRE)=E S S4B (ARER) % | RACBO1 | 55H A .900
EET ] RAC804 | 55H Al .400

R—N—%FIEEROA1BEED)

RAC



TR—N\—%FGIHEEROA13~16BEFEN)

SEEEAE : 2019/01/26 ~

9/13 9/14 9/15 9/16
FH A—ri—g | 2—ri—s#h | z—i—nB | 28

e B2 WA e T mpm | mnm | e
R ERE ERE ERE

RAE) -EE SR (FRER) % | RACT05 55 B Al 6.800 7.900 7.200 6.500
A% RAC708 55 B All 6.600 6.600 6.600 7.200

PREEB) -EE Sh#E (FRER) % | RAC801 55 B Al 7.200 8.200 7.900 7.200
EhE RAC804 55 B Al 6.500 7.200 7.200 7.500




TR—N—%FGIHEER(OA20~23BEFEN)

SEEEAE : 2019/01/26 ~

9/20 9/21 9/22 9/23
FH A—ri—g | 2—ri—s#h | z—i—nB | 28

e B2 WA e T mpm | mnm | e
R ERE ERE ERE

RAE) -EE SR (FRER) % | RACT05 55 B Al 6.800 7.900 7.200 6.500
A% RAC708 55 B All 6.700 6.700 6.700 6.700

PREEB) -EE Sh#E (FRER) % | RAC801 55 B Al 7.200 8.200 7.900 7.200
EhE RAC804 55 B Al 6.500 7.000 7.000 6.900




[ZR—I—%BHEEXR(10A1~14BEES)

SEEEAE : 2019/01/26 ~

10/11 10/12 10/13 10/14
FH A—ri—g | 2—ri—s#h | z—i—nB | 28

e B2 WA e T mpm | mnm | e
R ERE ERE ERE

RAE) -EE SR (FRER) % | RACT05 55 B Al 6.800 7.900 7.200 6.500
A% RAC708 55 B All 6.600 6.600 6.600 7.200

PREEB) -EE Sh#E (FRER) % | RAC801 55 B Al 7.200 8.200 7.900 7.200
EhE RAC804 55 B Al 7.200 7.200 7.200 7.500




: 2019/01/26 ~

RAC

[R—/I—%BHEEXR(10A18~22BEES)

SEEEAR

10/18 10/19 10/20 10/21 10/22
FH A== | 2—ri—gh | z—i—sB | 2—s—n@ | 2—s-ns

i B2 WA [ mmr | mmm | mmm | msm | @
R ERE ERE ERE ERE

RAE) -EE SR (FRER) % | RACT05 55 B Al 6.800 6.800 .800 6.500 6.500
A% RAC708 55 B All 6.500 6.500 .500 6.200 6.200

PREEB) -EE Sh#E (FRER) % | RAC801 55 B Al 7.200 7.200 .900 7.200 7.200
EhE RAC804 55 B Al 6.400 6.400 .400 6.400 6.400




LSRG IEER (4H16~25B1EFED)

EEEMAE - 2019/01/26 ~
4/16-25
[=45] B% ILES%R
%
B (IR =R 18 S (FRER) 2 | RAC705
Gia% RACT08
PREEB) -EE shiB (ARER) % [ RACBO1
Eh RACB04

RAC



TN RFIEERGAT~1TAERESD)

SEEEAE : 2019/01/26 ~
5/7-17
=40} % VLS %E
%

A@(IB=FE | ks (FLE) % [ RACT05 % H:5600

EE g RAC708 X H:5,600, £:5,800, £:5.300
ARB=EE s (ARF) % | RACEOT XA H:6.100

T RACB04

RAC



IS BIEER(5A18~31BIEFES)

EERAEA : 2019/01/26 ~
5/18-31
=40} % VLS %E
wE

R (B =R 18 s (AFR) % | RACT05 #1 5:5.600

GRS RACT08 #:5.400, £:5.300, H:5.600
R GRE) =T E s () % | RACBO1 KA H:6.100

EEE] RAC804

RAC



SEEEAE : 2019/01/26 ~
XA B2
RAE) -EE ShiB (FRFR) $ | RACTO05
A% RAC708
PREEB) -EE ShiB (FRFR) % [ RAC8O1
EEE RAC804

ILASEFRIEGR (4A26B8EED)

RAC



BERBME . 2019/01/26 ~
4/28 4/29
4] B2 FH | kSl [ vAr5%E
BARE | gmm | amra
HEAB)-Eh shiR (ARER) % [ RAC801 75 B Al 7.900 8.200
EEHE RAC804 75H Al 7.100 7.100

TS5 RB I EER(AA28~29ABES)

RAC



SEEEAE : 2019/01/26 ~

TSR FIERR(5A2~4BERD)

5/2 5/3 5/4
FHI | rS%E | YES%E | ILESEE
= B2 | AR [ v, v
B RS RS
HREB-EE %% (F04R) % | RACBO1 | 75H AL 6.900 8200 8200
EH RAC804 | 758181 7.100 7.100 7.100

RAC



TN RFIEER(6A1~14AEBESD)

EEEMAE - 2019/01/26 ~
6/1-14
XA B2 ISR E
&
B (IR =R 18 S (FRER) 2 | RAC705
Gia% RACT08
PREEB) -EE shiB (ARER) % [ RACBO1
Eh RACB04

RAC



IS RBIHIEER(6A15~21BEFES)

EEEMAE - 2019/01/26 ~
6/15-21
XA B2 ISR E
&
B (IR =R 18 S (FRER) 2 | RAC705
Gia% RACT08
PREEB) -EE shiB (ARER) % [ RACBO1
Eh RACB04

RAC



TS HBIHEER(6A22~308EFS)

EEHEAA : 2019/01/26 ~
6/22-30
=40} % ISR
%5
TR (B -GIE | bk (L) % | RACT05 [EL 85600
Eia s RACT08 %5400, H 15600
PREEB) -EE shiB (ARER) % [ RACBO1 [RABS.
ErE) RAC804 [£:6.200. B:6.400

RAC



TN RFIEER(TAI~11BEESD)

WEERE : 2019/01/26 ~
7/1-11
= ws | 0 TN ER
B (BB =RE S4B (IRER) % | RACT05 Al .300 7 £+ H:6.600
A% RAC708 Al .100 77% |#£+ H:6.400
BB == Sh#E (FRER) % | RAC801 Al .800 67% [/KAH:6.500
EhE RAC804 Al .400 69%

RAC



LSRG IEER (TH16~24BEFED)

EEHEAA : 2019/01/26 ~
7/16-24
=40} % ISR
%5
P (B -TiE | bk (30ER) 2 | RACT05 £ 56800
Eia s RACT08 &1 86500
(B -ma | bk (3RER) % | RACSO1 KA B:6.900
ErE) RAC804

RAC



TSR BIHEER(TA25~31BEFES)

EE®MAA - 2019/01/26 ~
7/25-31
= Ba | B SIS
PR | ana 500 %
il .500 76% 1 H:6.800
0!

B (IR =R 18 S (FRER) 2 | RAC705
B % il

2}
=
S|
S|
N
>
&

RAC708

2K
>
S
5
o
2
2

LiEH
BB == ShiB (FRFR) % [ RAC8O1 il . .
EEE Al .500 69% | :k7K:6.900

RAC804




TSR GIERR(BA2~8BERSD)

EEEMAE - 2019/01/26 ~
8/2-8
] Ee | JFH LSRR
HARIR e |7 e
B (IR =R 18 S (FRER) 2 | RAC705 AL 500
Gia% RACT08 Al 200
HREB)-EE S48 (FRFR) % | RACBOT A 900
Eh RACB04 il 100

RAC



ISR FIEER (8BA19~25B1EFE)

EEHEAA : 2019/01/26 ~
8/19-25
=40} % ISR
%5
P (B -TiE | bk (30ER) 2 | RACT05 £1 87200
Eia s RACT08 £ 87100
(B -ma | bk (3RER) % | RACSO1 KA B:7.500
ErE) RAC804

RAC



TS RBIHIEER(8BA26~31BIEFES)

EEEMAE - 2019/01/26 ~
4 8/26-31
XA B2 " ISR E
HARIR
&

B (IR =R 18 S (FRER) 2 | RAC705 AL
Gia% RACT08 Al

PREEB) -EE shiB (ARER) % [ RACBO1 A
Eh RACB04 il

RAC



TS %BIEER(TA12~15BBES)

EEEMA . 2019/01/26 ~
7/12 7/13 1/14 1/15
4] B2 FH | NS5 | SRS | YIES%E | IS %R1E
BARE | gmm | mre | wmm | SRa
R (AH)=RiE sh4B (ARER) % | RACT705 75H Al 6.800 .400 700 6.500
HiEE XAC708 75H Al 6.500 .500 .500 7.200
HRAH)-Eh ShiR (ARER) % [ RAC801 JHEE 7.200 .500 .200 7.200
R RAC804 75H Al 6.800 .800 .800 7.800

RAC



TMIILNSRFIEER(BAI~16BEESD)

EEEMA . 2019/01/26 ~
8/9 8/10 8/11 8/12 8/13 8/14 8/15 8/16
- P B I DT e DY ST DY Y ST YR IV ST YT
BAME | gmm | mRe | @mE | SRE | @RE | SRE | SRE | GRS
R (AH)=RiE ShiR (ARER) % XAC705 75H Al 400 8.700 8.700 7.300 7.300 7.400 7.400 7.300
HiEE XAC708 75H Al 100 7.100 7.100 7.500 7.400 7.400 7.800 7.800
HRAH)-Eh ShiR (ARER) % RAC801 75H AL .900 8.900 8.600 8.900 7.900 7.600 7.600 7.900
R XAC804 75H Al 400 7.400 7.400 7.600 7.500 7.500 1.700 1.700

RAC



EEEAE

2019/01/26 ~

8/17 8/18
FHI | ArS%E | IrSEE

i B2 | AR [ —=

BEE | ERE

(BB -RiE SR (FRER) % | RACT05 75 B Al 7.300 7.300
HiEH RAC708 75 B Al 7.800 7.800

BB == Sh#E (FRER) % | RAC801 JHEE 7.900 7.600
EhE RAC804 JHEE 7.700 7.700

TS BIEER(BAIT~I18ARES)

RAC



TN RFIEER(OA2~12BEES)

BEEMA : 2019/01/26 ~
9/2-12
38 SLSEE
0 2 i

BB | = %
B (BB =RE S4B (IRER) % | RACT05 Al .300 79% |[#+ H:5.600
A% RAC708 Al .300 79% |+ H:5.600
BB == Sh#E (FRER) % | RAC801 Al .400 67% |/KAH:6.100

EhE RAC804 Al .600 1%

RAC



ISR FIEER(OA17~30BEFED)

BEEMA : 2019/01/26 ~
9/17-19,9/24-30
38 SRR
0 2 i

BB | = %
B (BB =RE S4B (IRER) % | RACT05 Al .300 79% |[#+ H:5.600
A% RAC708 Al .300 79% |+ H:5.600
BB == Sh#E (FRER) % | RAC801 Al .400 67% |/KAH:6.100

EhE RAC804 Al .600 1%

RAC



TSR BHEER(10A1~108EFES)

EEEMA . 2019/01/26 ~
10/1-10
P4 ISR
= 2 i

EAR | w5 %
B -RE ShiE (IREE) XAC705 AL .300 79% |& 1+ H:5.600
HiEE XAC708 AL .300 79% |+ H:5.600
HRAH)-Eh ShiR (ARER) % RAC801 AL .400 67% | kA H:6.100

R XAC804 AL .600 1%

RAC



LSRG IEER(10A15~26BEFES)

EEEAR : 2019/01/26 ~
T0/15-17.10/23-26
FH ISR E
XA B2 AR [ 5
EAR |z il
SRR =RE SR (HLEE) % | RACT05 Eil 300 79% | % £5600
HiEE RACT708 Eil 300 79% |4 5600
S GRE) -EE S (FRER) % | RAC8O1 Al .400 67% | 7kK:6.100
Eh RACB04 Eil .600 1%

RAC



EEEAE . 2019/01/26 ~
9/1

=) 73 TR [oarosni ]
AR [~ g0
HEAB)-Eh shiR (ARER) % [ RAC801 75 B Al 6.100
EEHE RAC804 75 B Al 5.600

YLNSERIEER(OAI1BERS)

RAC



TS5 BIEER(OAII~I6BEES)

EEEMA . 2019/01/26 ~
9/13 9/14 9/15 9/16
4] B2 FH | NS5 | SRS | YIES%E | IS %R1E
BARE | gmm | mre | wmm | SRa
R (AH)=RiE sh4B (ARER) % | RACT705 75H Al .600 7.400 6.700 .300
HiEE XAC708 75H Al .700 5.600 5.600 .900
HRAH)-Eh ShiR (ARER) % [ RAC801 JHEE .400 7.700 7.400 .400
R RAC804 75H Al .700 6.400 6.400 .700

RAC



TS5 RB I EER(9A20~23BEES)

EEEMA . 2019/01/26 ~
9/20 9/21 9/22 9/23
4] B2 FH | NS5 | SRS | YIES%E | IS %R1E
BARE | gmm | mre | wmm | SRa
R (AH)=RiE sh4B (ARER) % | RACT705 75H Al .600 7.400 6.700 .300
HiEE XAC708 75H Al .800 5.600 5.600 .900
HRAH)-Eh ShiR (ARER) % [ RAC801 JHEE .400 7.700 7.400 .400
R RAC804 75H Al .700 6.400 6.400 .700

RAC



ISR IEER(10A11~14BEED)

EEEMA . 2019/01/26 ~
10/11 10/12 10/13 10/14

4] B2 FH | NS5 | SRS | YIES%E | IS %R1E
BARE | gmm | mre | wmm | SRa
R (AH)=RiE sh4B (ARER) % | RACT705 75 HAIl .600 7.400 6.700 300
HiEE XAC708 75H Al .700 5.600 5.600 .900
HEAB) -Eh T (ARE) % | RACB01 | 75 B AT 400 7.700 7.400 400
R XAC804 15HAI 400 6.400 6.400 700




MW EBIEER(10A18~22HBES)

EEEMA . 2019/01/26 ~
10/18 10/19 10/20 10/21 10/22
4] B2 FH | bS5 | ISR E | YIESEB | YRS RE [ YLrS%E
BAME | gmm | sRm | @mE | SR@ | @R@
R (AH)=RiE sh4B (ARER) % | RACT705 75 HAIl 600 .600 600 .300 300
HiEE XAC708 75H Al .600 .600 600 .300 .300
HRAH)-Eh ShiR (ARER) % [ RAC801 JHEE 400 .400 100 400 .400
R XAC804 15HAI 600 .600 600 600 .600




